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This booklet contains 180 multiple choice questions. This Question Booklet is made up
of 2 Parts. Part "A" contains 30 questions (Q. No. 1 to 30). Q. No. 1 to 20 is of 2 marks each.
Question No. 21 to 30 is of 1 mark each. Part "B" contains 150 questions (Q. No. 31 to
180). Each question is of 1 mark each. There is ho negative marking for wrong answetr.
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As per GO (Ms) No. 49, Human Resources (M) Department, dated 23.05.2022 differently
abled candidates are exempted from the Compulsory Tamil Language eligibility test.
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&R w @mLiLyser / IMPORTANT INSTRUCTIONS

OMR aflewL_ggrafew, aflarrs GgT@LiL aiflensFew snH6\sar SILiLL Haerer @)L 3 Fe
aflesresrLitigryCr sRlwrss BlyLiu CeuessBLo.
Candidate alone should fill the Question Booklet Series correctly at the prescribed place in the
OMR Answer Sheet.
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Candidates should verify the subject of the question paper given to him/her. If the subject is
changed inform the Hall Superintendent immediately.
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Read Instructions completely and carefully and fill in the details from SI. No 1 to 16 in the OMR
Answer Sheet and Sl. No. 1to 16 in the Question Booklet. If you fail to fill in the details and sign as
instructed correctly, you will be personally responsible for the consequences arising during scanning
of your OMR Answer Sheet
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OMR Answer Sheets will not be evaluated if the OMR Answer Sheet is filled in wrongly/unfilled
afesrng 6z 1@ L0 OMR allen_gsmafer erenrenent 950 Cser saLiLIL HaTer QL sHe 61(Lps Couedr(BLb.
OMR Answer Sheet No. should be written in the space provided in the Question Booklet.
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The Question Booklet comprises of 24 pages having 180 questions. After being instructed to open
the Booklet, then only the candidates should open the Question Booklet seals. Check whether the
Booklet contains 180 Questions starting from page No. 3 to 20.
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All questions are of MCQ (Multiple choice question) type. There is only one correct answer to each
question. There will be no negative marking for wrong answers.
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All questions other than language questions are in bilingual. (Except Tamil and English Subjects)
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In event of any mistake in any question/s, no corrections will be made in the Question/s during the
examination.
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Rough work, it any, may be done in the Question Booklet only in the space provided at the end of the
Booklet. Do not tear it off from the Question Booklet. No additional paper shall be provided.
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Use of Log tables, Calculators, Slide rules, Mobile Phone, Pager, Digital Diary or any other electronic
item/ instrument etc. in the examination hall is not allowed. Their use will result in disqualification.
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This Model Question Paper Prepared by Professor Academy.
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The Question Booklet will be issued to the candidates at 9.50 am and the candidates must fill in all
entries in Question Booklet and OMR Answer Sheet. Candidates should open the question booklet
seal after a long bell at 10.00 am. After opening the Question Booklet, ensure that any page/question
is not missing/not printed/torn/ repeated. In case, you find any defect anywhere in the Question
Booklet, immediately inform the Room Invigilator and get it replaced by him. Warning Bell will ring at
1.25 pm, and the last long bell will ring at 1.30 pm.
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Write your Roll No. OMR Answer Sheet No., Question Booklet Series, Name and put your signature
in the space provided in the Question Booklet as well as in the OMR Answer Sheet.
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With each question, you will find four possible answers, marked by the letters A, B, C and D. Read
each question carefully, and find out which answer, according to you is correct. Indicate your
answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding to
the question. For marking answer, use Black Ball Point pen only.

OMR aflenL_ggmarnersg sessflet] epevid B LILFH OFwiwiL®LoLILg oy eIenoEsLILL R eTers). GLopdmmw
@OILILys@mer seoL_L919 s51ai160, sewflef] epevd LHLILTR CFuicug @QuevrssTHalBLD. @)FeTTed
afessTenTLILISTI(HS G eI LIBLD Q)LpLILS @%@ aflesstenrLiLigmyGy ClumpyLiLimeuy.

OMR Answer Sheet is designed for computer evaluation. If you do not follow instructions given
above and shown in the OMR Answer Sheet, evaluation by computer will become difficult. Any
resultant loss to the candidate on the above account, shall be of the candidate only.
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No candidate should leave the examination hall before the final bell. The OMR Answer Sheet

should be handed over to the Room Invigilator before leaving the examination hall. The candidate is
allowed to take the Question Booklet with him/her.
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Part B — Economics

31.Under non-cooperative games, it is

(A) Essential to understand one’s
opponent’s point of view

(B) Not essential to understand one’s
opponent’s point of view

(C) Essential to understand one’s
opponent’s point of view and to deduce the
likely responses accordingly

(D) Essential to understand one’s

opponent’s likely responses

31. & _Hmeunmm aflenwarwrHseaflsr &ip
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32.Which of the following methods of
selecting strategies is consistent with risk-

averting behaviour?

P.T.O

(A) If two strategies have the same
expected profit, select the one with smaller
standard deviation

(B) If two strategies have the same
standard deviation, select the one with
smaller expected profit

(C) If two strategies have the same
standard deviation, select the strategy with
larger coefficient of variation

(D) If two strategies have different
expected profits, select the one with the
larger standard deviation
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Gxirey GlFiiiweyib

(D) @rawr® o_gglasir ClosiGaimi
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33.Match the following

LilesteumeusreuHenm GlLIT(HdHSHe LD

List List I

(a) Various (i) Indifference
combinations that a map
consumer can

purchase

(b) Various (ii) Indifference
combinations of two curve
commodities providing
equal satisfaction to

consumer

(c) A set of (iif) Budget line

indifference curves

(d) Point of tangency | (iv) Consumer’s
of a budget line on an | equilibrium

indifference curve

Lt igq b - | L g uwied — I
(@) o BisiGauri | (i) FglBLg)
U T BB 5 L 1L1 UG TLIL LD
WEMERT)Y
Qi senHsH6r
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9jefld & ) rewT®H
LI6UOT L1155 61f] 65T

WM €)Y

GFirdhem&HFH6T

(€) 23 CBTEG) (ili) eureyClaaays
ENENGINE ) Cam(D

QMM TR & 61T

(d) 2@ swIlHLS

suemereailer Lbg)eiTer

(V) misrGeuri
FLDBlew6V
sureyblFsve s
Bari g6 QST

(A) A-l, B-II, C-IV, D-lII
(B) A-IV, B-lll, C-I, D-lI
(C) A-ll, B-lll, C-1V, D-I
(D) A-ll1, B-Il, C-I, D-IV

P.T.O

Leirer]

(A) A-l, B-Il, C-1V, D-lII
(B) A-IV, B-lll, C-I, D-I
(C) A-ll, B-lll, C-1V, D-I
(D) A-ll1, B-Il, C-I, D-IV

34.The inconsistency of which one of the
following criteria is labelled as Scitovsky

Paradox?

TRB



(A) Little criterion

(B) Pareto criterion

(C) Bergson criterion

(D) Kaldor-Hicks criterion

34. Lissreu(pid 9jemeyCahrevsemley 615687
wpresstuT® eFGL_meuervd] LpressTLIT (D
ST YD PHSLILIHSDSI?

(A) 91960 y6mey G mev
(B) uGri_GLr ojemeyGarev
(C) Quirdensit ojemey@ams
)

(D) smrevL_mir-anlsen oereyGsHsimed

35.General equilibrium analysis
determines

(A) Prices & quantities in all markets
simultaneously

(B) Prices & quantities in all markets
simultaneously and explicitly takes
feedback effects into account

(C) Feedback effects

(D) Prices in all markets

35. QuTg FwHlepsd LGLILTIIR sTouMHeHM
Hiroreafsdng?

(A) 2Gr Crragle Sewarssgl
Fhenssellaih allenesET HMID SjeTeys6iT
(B) 9Gr Crragle Syswanssgi
Fhensasellaih alleesET HMID SjeTeys6T

wHmid Uetenrl L alleweareysemer
PT.O

QeusfiLien L wimss &amride
TO5SIEASTETEDSI

(C) Nssrepr’ L afleparaysssir

(D) oymarss) spossafgin aleassr

36.The firms are competitive and profit
maximizing; the demand curve for labour is
determined by

(A) The opportunity cost of workers’ time
(B) The value of marginal product of labour
(C) Offsetting income and substitution
effect

(D) The value of marginal product of capital
36. Blmieuariigser Gur_iquil’_ (5
Qeorugens g% MsEnGurg),

> eouplillharar GHmar aIRaTa STHETTE)
Sireflssiiu@aEnsg?

(A) Qariflevreriseaflesr Ghrgler wrmHm)
ClFsvey

(B) 2_swpiillsir Gmiglplensv 2 pHuiggluilsr
&1Ly

(C) F®GF1u)b eu(HLOTSITLD LOHMILD

ugled LB allenersy

(D) wpevgersglsr @ miglpleves
2_Huggluiler g1

37.Pareto’s marginal condition for
efficiency in composition of output

(product-mix) requires
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(A) MRTS

(B) MRS xy A = MRS xy B

(C) MRT xy = MRS xy

(D) MRTSLK=PK/PL

37. Qeuefuf_ () seweeuullsir fmeidsrer
uGrL GLraller @midblewsy BlLibsemevr
sTewHE CHT(HBIMH?

(A) 2_siraf Gaeilsir GiABme
QsrfoBi L LS B aflsio)

(B) MRS xy A = MRS xy B
(usir_iisapésrar GoiAfon LS G
aNdshdsn aLopgiaud)

(C) MRT xy = MRS xy (@miflfleve orpp
eilsls b @nigiplewe Lgled B all$lss53IhE
FLOID)

(D) MRTSLK=PK/PL
(2_siraf Do epssrar @ nigplene
Qarflomi U LuHSL G alldsid ojaummlsr
ailswev all#ls55h@ FLoid)

38.As income falls, consumption declines

but proportionately less than the decrease

in income because the consumer desires

to sustain previous standard of living. This

is called?

(A) Ratchet effect

(B) Wealth effect

(C) Demonstration effect
)

(D) Income effect

P.T.O

QUBHLOTETLD GewDu|d GLITSI, BI%iTey
GPODIDSI, YEOTTE O (HLOTIS &DDED6M
ol allslsreErrsslsy @enmeaursGeu
GHOMEHEIMGI, e76eTevlsL HissTGeuTT
PHDOSW UTPEDES STSDSS 555
eubgIs Garerer aflBbLADTiser. &5
ST S|eD L5 L1LIH M ?

(A) rr_ Qs aflenerey

(B) GFsveu allswersy

(C) Qrwesvallerss allewersy

(D) sugpiomar aflamarey

39.Liquidity approach is also known by the
name

(A) Gurley — Shaw approach

(B) Radcliffe approach

(C) Traditional approach

(D) Monetarist approach

LISRTLIL| 1045 eI & LpewD Coumi sThsLl
Quwrmed PGS ?

(A) &i6dl — agr SjsmIG PP

(B) ririgeflssls oemi@pemm

(C) nrrioufu e

(D) uemrallwsy eusbsypiasetlsr
SVHGICALNY

40.Vertical equity in taxation means that

(A) People in different income groups

should be taxed equally
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(B) People in different income groups
should be taxed differently

(C) People in different groups should be
charged proportionately

(D) Unequal people should be treated
equally

40. suflalgilled Qemigbg FoLBiE,
6TETLIG)

(A) GeucuBaum) 6u(mLOTEST (& LpdH6M6V

o _eTaTeuiaEhd@ Fowrd eulf afldldari_
GousiT(HILD

(B) Qeucu@aum su(mLorest & wpdbasemlsv

o erareuisEns@ alsHwrsnTes e
aflFlEs L. Causor(H)id

(C) QeusuGoumy & psbsHefev

2 6Tl s Ehdh @ lSISTFTTIOTS &L L 60TLD

allglga L Geuevst(HILD
(D) #Fowmmeuissir FIOTES HL GBHLILIL

Geuessr(h)b

41.The long term chronic unemployment
arising from imbalance between the skills
and other characteristics of workers in the
market and the need of employers is
known as

(A) Cyclical unemployment
(B) Frictional unemployment
(C) Structural unemployment
)

(D) Seasonal unemployment

P.T.O

41. spemauilsd o srer Qg riflevrerigertler
FIestaeir opmid Lilp

& &) F WIS EHE G D, (LpHevTemseflsr
BxemeusdsGLd @)ewL_Guw o sirer
FLOBeneOuNSTEDLOWITE) 6TIHLD [FEMTL TV
BTl L GauswevullesTemin sTeiauTmi
SBwiL®GSms?

(A) srpmd CousmsvullsiTemio

(B) 2_rmiiey Geusmevullesremio

(C) s Lewioiiy Geuswevuilssremio

(D) umeusrev Gousmevuilesremio
42.According to Marshall — Lerner
condition for the foreign exchange market
to be stable, the sum of the elasticities of
demand for imports and the demand for
exports should be

(A) Less than 1

(B) Equal to zero

(C) Equal to 1

(D) More than 1

42. 9Bl GFurausnf] Fhewsg BlewsvwiTs
@) (h&5, WTTage) — e
plupgeweullsiTLig., G)md @0 sldhesmer
Cgpemeu HMID eTHMILLFESTET CHeve
9} alweuMMledt 6\ Flg % 65Tem Lo 6ifl6dT
Il SO BTN sTeaUTM] @) (HSH5
Geusror(p)in?

(A) 1-22 @l @ewpay
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(B) ug2eusdpe swid

(C) 1-8 awid

(D) 1-g2 @l Syesiid

43.In J. Robinson’s growth model, capital
accumulation depends on

(A) Savings- income ratio

(B) Profit-wage relation and labour
productivity

(C) Profit- income ratio and capital

(D) productivity Savings- investment ratio
J. rrifleiraesflesr euarirgd wrgfluilev,
CPSVGHEITS GATlLIL| sTewg F i g 6rend)?
(A) GxLALIL-eumomesT allafspi

(B) Glevruib-earglui 2_mey wopmiid
Aprifleoreni o pLsHsHne

(C) @evruib-supLomer efl#lgh wHmib
PSS 2_MHLIS B S B MesT

(D) G#illiy-wps6S1_ (B efl#lsLb

44 Which of the following is not the method
of debt redemption?

(A) Refunding

(B) Repudiation

(C) Sinking fund

(D) Capital levy

LNeireuHeusTauBled 6751 SL_6T LB @10
PEPD sVev?

(A) Apious Qsgussised

P.T.O

(B) womiiiy

(C) ppgw B

(D) apooger auf

45.Consider the following statements
regarding the Periodic Labour Force
Survey (PLFS)

1. Itis launched by National Statistical
Office (NSO)

2. It is a bi-annual survey held in both
urban and rural areas

3. It collects data through both Current
4. Weekly Status and Usual Principle
Status

Which of the above statement is/are
correct?

(A) 1 and 2 only

(B) 2 and 3 only

(C) 1 and 3 only

(D)1,2and 3

45. sTevpewm CgriflevTeari LienL gy lile
GPISS LsTaBiD Pl ssHaerd
Feuevfluyn1ser

1.8 Caflw yeireflullwish 9jsi6uevE S Tev
QT RIS L g

2.@ a1 paiiiym wHmid SrTioliymi

L@ BB pewL_ QUMD FrTesT(HdhE

PHLPEDD Y UI6) Y& LD
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3.@)a1 sHCUTEWSW UTTTHST Blewsv 1. 2_svsarTailu eTewTOlewTl ailewevdssir
LOMHMILD 6ULPEDLOUITEIT (LPHEITEHLD Blew eV &EMMGH6V

D)W () TEUTLY 63T CLPSVLDTH YLD & T 6)|HEW6TF 2. GeusfllsTRsaflev @) BHHw alleusFrw

Cssfsfns QUITEBL SEpEsTar Come 9% sMHs560
BGsv 2_sirar 9 Mldewasaflsy 6Tg1/6Temou 3. Fevrralled @) Hbg 6uHLD evVLOTTL
slwimens)? GursiaenssTar auflaws 2855560
(A) T wpmiib 2 01" Gid 4. sm15 @MéGLglmw s HLLE S50
(B) 2 whmiid 3 101" @b Filwrer @Ol snL_g Csih6)s[Héama)b:
(C) 1 whmib 3 wr_Hib (A) 1 whmid 2 L Hib

(D) 1,2 omhmitd 3 (B) 1 ommiid 3 w1 Gib

)
)
(C) 2 wmmiib 4 o1 H)ib
46. Which among the following can e
(D) 1,2,3 wmmiio 4
decrease the Current Account Deficit

(CAD) 47.Who among the following is called the
1. Reducing in the Global Oil Prices Blue Collar Worker?

2. Increasing demand for Indian (A) Working class persons who perform
Agricultural Products in foreign countries manual labour

3. Increasing tariff on Smart Phones from (B) Working class persons in Fisheries and
China Aquaculture Industry

4. Curbing the import of Gold (C) Working class persons performs work
Choose the correct code: in an office environment

(A) 1 and 2 only (D) A service worker whose labour is

(B) 1 and 3 only related to customer interaction

(C) 2and 4 only 47. Leireumeussteudmled wWir Lieem &Hrevr
(D)1,2,3 and 4 Qs riflevraf eTedTm)

46. NsiTaumeusstouhmled 6T BL_ 1L DL EBLILIHE DT s6iT?

FHETE @1 LNDTe @D &N (A) 2_L60 2_sipriy Qeiiigid @grifleoref
piguyin? T o EMHF GFihpHeuTamer

P.T.O TRB



(B) WWsireusrid opmid Bieurp o ulfesr
sueTitiLs glewmuiled o_srer Agmifleora
Uit dBSmHE CFihpauismer

(C) 00855 @ipelled Liswflyiluyid
Qarifleoredl auismsmss Geibseauissr
(D) surgdepswrert Qsriy Qgriurer

uenflepwd GlFiwib CFemeugs GlgTiflevmer]

48. Match the following

List — | List — 1l

(a) Theory of big push | (i) J H Boeke

(b) Warranted rate of | (ii) Paul Romer

growth

(c) Social dualism (iif) Rosenstein
Rodan

(d) Endogenous (iv) R F Harrod

growth theory

(A) A-Il, B-11I, C-1V, D-l
(B) A-lll, B-1, C-1V, D-ll
(C) A-lll, B-IV, C-I, D-lI
(D) A-1V, B-II, C-llI, D-I

48. Llsiteupeussteunenm ClLIT(Hd e LD

L 1guiev - | L iguiev - I
(a) Qufw 2_Bbgs (i) J H Boeke
Casrl_umr)

P.T.O

(b) 2 sareursiin’ L

sueriFFuiledr aildlsip

(i) Paul Romer

(C) Feps @) (HewLOGUTHLD

(iif) Rosenstein

Rodan

(d) 955GsmHD

ouerigd] Gasmi_im

(iv) R F Harrod

sflwrer allHLiLgenss Csih6)%(Hdbee LD

(A) A-Il, B-11I, C-1V, D-
(B) A-lll, B-I, C-1V, D-lI
(C) A-lll, B-IV, C-I, D-ll
(D) A-1V, B-II, C-llI, D-I

49. Match the following

List-l List - II
(a) ICICI (i) 1971

(b) IRBI (ii) 1964

(c) IFCI (iii) 1955

(d) IDBI (iv) 1948

(A) A-l, B-II, C-llI, D-IV
(B) A-Il, B-1lI, C-1V, D-I
(C) A-lll, B-I, C-1V, D-ll
(D) A-ll1, B-Il, C-I, D-IV

49. siteupeussteunenm ClLIT(H e LD

L 1g ute — | L iguiev — |

(a) ICICI (i) 1971
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(b) IRBI (i) 1964
(c) IFCI (i) 1955
(d) IDBI (iv) 1948

(FF) GouemeveuriiliLy @&emmbgl, LIewTal %% LD

(A) A-l, B-II, C-llI, D-IV
(B) A-Il, B-1lI, C-1V, D-I
(C) A-lll, B-I, C-1V, D-lI
(D) A-ll1, B-Il, C-I, D-IV

50. An increase in fiscal spending leads to
(A) A shift of Phillips curve to the left

(B) A shift of Phillips curve to the right
(C) Movement along the Phillips curve
such that employment rises and inflation
also rises

(D) Unemployment will rise and inflation
will reduce

50. o7& CFsvallerid Sl MLiLTev
sTHU@D eflenerairs steiter GpmLd?

(o)) LNedc1670 susmerallsr @)L_gi LiddsLb
LELDT

(=) LNeS1670 ausHeTallsir aU6VF] LiddLd
LELDT

(@) LNel161v susmerailssr Big LiLilev
Baiaurs, GauenevsuriiliL HHsfss

LERTOTHELD dn L BT E LD

P.T.O

&P DULD
51.Match the following
List-I List-1l
a) Accelerator and i) Modigliani,
multiplier interaction Ando and
Brumberg
b) Cambridge ii) Akerlof and
approach Yellen
c) Life cycle iii) Paul
hypothesis Samuelson
d) Efficiency wage iv) Alfred
model Marshal and A
C Pigou

Choose the correct option:
A. A-l, B-1V, C-lI, D-lII
B. A-lll, B-1V, C-I, D-I
C. A-ll, B-1, C-llI, D-II
D. A-1V, B-Ill, C-lI, Dl

51. Lesreumeustroumenm GlLIT (K6 LD

Ut g wieb - | Ut 1q wieb - ||

a) (@) whmid | i) GuomigdedlwiTest),
AIMGEE D,TELT LHMILD
@ e L_aflsner NribLiids

b) Gasio N s i) oyds i GeoradL]
9TV & (P LoHMILD 6lursdsvssT
C) oy w6 siphd i) Limev

5 (%) SHrer Fr1pGeusd et
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d) glpesr earglui V) peoLily

Lol LOTTeag6D LOHMILD 6F

f U@

gilwrer el BriLsmss Gspihe\sH)desaLb:
A. A-l, B-IV, C-II, D-lll
B. A-lll, B-IV, C-I, D-II
C. A-ll, B-I, C-lll, D-Il
D. A-IV, B-lil, C-II, D-I

52.1n the short run, a perfectly competitive

firm will shut down production if:

a) Price > Average Variable Cost

b) Price = Average Total Cost

c) Price < Average Variable Cost

d) Price > Marginal Cost

92. GmIslw HTVSID, (B BlewDe|L
Gumi’ig plpisusrid 2 puggleow sTIGLTS
pImisSleilEn?

a) aflensv > Frmraf wrmib CFaey

b) aflewev = Frmraf] GlwTdhs GlFevey

C) allemev < Frrafl rmib ClFevey

d) aflemev > @ miSIBlensv GlFsvey

53.In an open economy input-output
model, the viability is examined by
A. Hawkins-Simon conditions

B. Kuhn-Tucker conditions

C. Dickey-Fuller test

P.T.O

D. Goldfeld-Quandt test

93. p(p FmpHF CuTHeTTSTT 2 6Tl L (h)-
Geueluf @ wralfulley, ose6r
FTEENI &8 M STHET eLPeVLD
rrwin@Sms:?

A. amrEEleTer-enFLOGIT [B]LIM S 6w 63T 6T
B. sn6iT — L& BlUbSeparaer

C. 454 — Yot Gersemer

D. G&mevio26lLisvL GHourentl t GFrapemesr

54.Standard Error (SE) of sample mean in
random sampling from an infinite
population or in random sampling with
replacement is given by:

A. SE = g%+n

B. SE = a/V(n?)

C. SE =d%+n

D. SE = a/Vn

54. stevemeLwHM WEEH6T Ol Tenasuiled (b
D[VVG! LOTDMISEIL 6T Fon L Ul FLOGUTUILILY
wrglAew @i, wrglfl Frrafluiles
A1 Newip sTHITTE auiphissinBaEm g ?
A. SE = g%+n

B. SE = a/V(n?)

C. SE =d%+n

D. SE = a/Vn

55. The IRR is the discount rate that
equates the project NPV to __ and

benefit-cost ratioto
TRB



A 1,0
B. O, 1
C.0,0
D. 1,1

55. IRR ereiruigy, i1 _gglest NPV g0

(3)& @, HMID LweT-ClFeve| all#lssems

__ (39)é@h seirEpLLy alldlsid o) @Lb.

A 1,0
B. O, 1
C.0,0
D. 1,1

56. Match the following

Type-I Type-Il
a) Thomas i) Destiny theory
Doubleday
b) Thomas Sadler | ii) Biological theory

c) Leibenstein

iii) Diet theory

d) Herbert Spencer

iv) Motivation
theory of

population growth

(A) a-i, b-ii, c-iii, d-iv
(B) a-ii, b-iii, c-i, d-iv
(C) a-iii, b-i, c-iv, d-ii
(D) a-iv, b-iii, c-ii, d-i

56. LieireumeustToumenm GILIT(HdHSHe LD

auemnd —l

ausma —l|

a) mwe L LysT@L

) aflg] Camiumr®

P.T.O

b) srisw erei | ii) o_uflPwed
Gsri_ur®

¢) ePQusiTavenLsr | iil) 2_emrey pemm
Gsri_ur®

d) @aniuit

V0 LIGITFIT

IV) dser ClgTenss
eueri gl ulleor
2_bSIH6

Casri_umr)

(A) a-i, b-ii, c-iii, d-iv
(B) a-ii, b-iii, c-i, d-iv
(C) a-iii, b-i, c-iv, d-ii
(D) a-iv, b-iii, c-ii, d-i

57. Which among the following are a

component of PM eVIDYA scheme

1. DIKSHA

2. NROER

3. PRAGYATA

4. MANODARPAN

Choose the correct code:

A. 1 and 2 only
B. 2 and 3 only
C. 1 and 4 only
D.1,2,3and 4

57. Lesreu(meustToummlsv 615 LileTid (3)-

aflGwir S L gFleir sp(h |BiIg1D?

1. Slgagr

2. 6T60T. Y T.59.(3). 9 T

3. Urswrgm
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4. wGerrsiLsT

Filwrer @Ol sni_g Csifh6)s[Héama)b:
A. 1 whmitb 2 w1 Gib

B. 2 whmib 3 wr’_Gib

C. 1 whmitb 4 w1 Gib

D.1,2,3 wphmi 4

58. Under TRIPS protection for copyrights
is for

A. 20 years after the death of the author
B. 30 years after the death of the author
C. 40 years after the death of the author
D. 50 years after the death of the author
TRIPS spriupgsgler &1p,

58. Ly MepindsTesT LTEISTIIL
TSSO YT (HFHEHS G
QuLpRISLILHE M ?

A. 9 Aflwfler wrenrsSme&l ng 20
o BT (B 6T

B. 9 Aflwflsir wrentsgslm@L Limg 30
o BT (B 6T

C. g Aflwfer wrewrgslngl ing 40
o BT (B 6T

D. g fAflwfer wrewrsSme Ling 50

94,6007 ())& 61T

59. Second National Commission on
labour has recommended a three tier

system including

P.T.O

A. Lok adalats, labour courts and labour
commissions

B. Lok adalats, labour courts and labour
relations commissions

C. Lok adalats, labour courts and judicial
courts

D. Lok adalats, labour courts and labour
inspectors

59. @ rewr_reug) GsAw Qgrifleoreari
eewrwid LUflbgiewrss apstml BSS
PO STOUHEDM 2 6oL dalwig)?

A. Gourd B TVGHET, LG TLfleVTaT
BHsTmBISET WHDID Q% Tiflevreri

), GUT LI a1 55 6T

B. Govrd 95mev5 %61, GpTiflevmeri
BHeTmBISET WHDID Q% Tiflevreri
M6 6T Y61 6IT Ui 6T

C. Gourd pTevGH6T, ClGTIlevmaTi
BEI0STDRISST wHDID FIE51Mm
BlosT e

D. Gours s revdaser, Glgriflevmeri
BHeTMBISET WHDID Q% Tiflevreri

9}, UIM T T & 61T

60. The ‘Hedonic Price’ method measures
the value of environmental assets through
A. Using ‘existence’ of an environmental

asset

TRB



B. Using linkages between variations of In-
house prices

C. Using WTP to value of environmental
assets

D. Using WTA TO value of environmental
assets

60. 'QanGLrefls allewevs Csmriur(®'
WPePD FHMIFSIP0 ClFTS %15 s e s
FIIemLI 6TSH60T cpevld HerallRSImg?

A. 2@ SDDIFGIPsL ClFTdgle '@ mLiL
WL LWSTUHSSHIS

B. o srpri () eflswevsertisr
rmILTH % EHdsE, G)eoL Guiwimer
QewewtiLsenents LiwisiTL G5BV

C. shmIF@pe QFTéHgIsaeaflsT A IenL
ojeraf. WTP sowit' Liwsstu®)g 156

D. shmid@sipsd Qamsgidhaetsr wHlienL
operaf. WTA sowt't LwssTLB)gs156

61.Match the following

d) Heteroscedasticity

iv) BLUE (Best

Linear Unbiased

Estimator)

(A) a=iv, b—i, cii, d-iii
(B) a—i, bii, c—iii, d—iv
(C) aii, b-iv, c—i, d—iii

)

(D) a—iii, b—ii, c-iv, d-i

61. LNereumeustroumenm GlLIT(HbsHe LD

List-I List-Il
a) Gauss-Markov i) R?
b) Coefficient of ii) One sided test

determination

c)t=s/nx(x-p) |ii) Goldfeld-

Quandt test

P.T.O

U ig b - | L ig w6 - I
a) srer-rirGs el i) R?
b) Sirwresflii & i) p(m LGS
&S LD GFrgemnesr
c)t=s/Vnx (X - p) i)
CamevL_os6lLIsVL -
& OUTEHTL
GFrgemesr
d) wrmiu@1o iv) BLUE
LreuLIg
(A) a—iv, b—i, c—ii, d-iii
(B) a—i, b—ii, ciii, d-iv
(C) aii, b-iv, c—i, d-iii
(D) a-iii, b—ii, c—iv, d-i
62. Match the following
List-I List-ll
a) World i) 11th July
environment day
b) World wildlife i) 5th June
day
TRB




c) World water day | iii) 3" March

d) World population | iv) 22nd March

day

(A) A-i, B-ii, C-iii, D-iv
(B) A-iii, B-iv, C-i, D-ii
(C) A-ii, B-i, C-iv, D-iii
(D) A-ii, B-iii, C-iv, D-i

62. Ulsiteupeussteupenm Clum(H& e LD

Ut iquied - | Ut iquied - I
a) 2 _evs ) soDemev 11
FHMIFG1PL FlevTid
b) 2_eva i) so@esr 5
sueTalleVmI @ FlevTid
C) 2 6va Gewrewl T | i) orig 3
Sewrid
d) 2_6v& W& E6T V) omrirg 22
CsTews Flevrid

(A) A-i, B-ii, C-iii, D-iv
(B) A-iii, B-iv, C-i, D-ii
(C) A-ii, B-i, C-iv, D-iii
(D) A-ii, B-iii, C-iv, D-i

63. If A =[[1,4,7],[2,5,8],[3,6,9]] then |A| is
equal to

A. 15

B. 16

C.27

P.T.O

D. 20
63. A = [[1,4,7],[2,5,8],[3,6,9]] stesflsv |A]
STHMH&F FL0D?

A. 15

B. 16

C. 27

D. 20

64. What is the equation of corrected birth-
rate

A.Corrected birth-rate = Total population /
Total births x 1000

B.Corrected birth-rate = Population of
women in child bearing age / Total births x
1000

C.Corrected birth-rate = Total population x
sex ratio / Total births x 1000

D.Corrected birth-rate = Female population
in child bearing age / Total births

64. Hmsasiiul L Unliy e#lsssler
FLOGTLIT(D 6T63T6oT?

A.Qrss WweEH6T CgTens | Clrss
Wmiiysesr x1000
B.@whens QuUmih euwged o sier
Ouessrgser | Qorgg LIpliyser x1000
C.0wrss weHeT CgTengs X LiTedler
afl#laib / Qrgs LIpliyser x1000
D.gwhens Qumih aiuwgbsd o _srer GLiswr
Wt | QoTés LDy ser
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65. Match the following

List-I List-Il
a) Skewness I) Dispersion
b) Variance I) Random
Variations
c) Earthquake (in [Il) Ratio of
Time Series) variances
d) F-test IV) Lack of
symmetry

(A) a=iv, b—i, cii, d-iii
(B) a—i, bii, c—iii, d—iv
(C) a-iii, b-iv, c—ii, d—i
)

(D) a—ii, b—i, c—iv, d-iii

65. Liereumeustroumenm GILIT (K6 LD

L iquiev - | L iguiev -
a) Gsmewrsv 1) Agpmev
b) ureumLig ) Foeumiiiiy

rmiumhser

C) WL (HTeVG

G rLiflev)

) LreumLig s eflesr
allalg b

d) F-G#rgemevr

V) #wsfF fesremio

GemwDey

(A) a=iv, b—i, cii, d-iii
(B) a—i, bii, c—iii, d—iv
(C) aiii, b-iv, c—ii, d-i

P.T.O

(D) a-ii, b—i, c-iv, d-iii

66. Arrange the introduction of the
following taxes in India in chronological
order.

a) Service Tax

b) Income Tax

c) Banking Transaction Tax

d) Gift Tax

e) Goods and Services Tax
A.b,d,a,c,e

B.b,a,d,ce

C.a,b,d,c,e

D.b,d,c,a,e

66. @)islwrallsy Lsraimid aufsmer
P &ULESSW Sreverflenaliig
auflena1ILBSS5 .

a) Gaemeu el

b) eumLomrest euifl

C) suid ufeuidgsener surfl

d) ufg euf

e) #rd @ wnhmib CFeweu euifl
A.b,d,a,c,e

B.b,a,d,c,e

C.a,b,d,c,e

D.b,d,c, a,e

67. What is the CORRECT sequence of
the following?

a) Uruguay Round
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b) Kennedy Round
c) Doha Round

d) Geneva Round

(A)a,b,c,d

(B)b,d, c,a

(C)c,a,b,d

(D)d, b,a, c

67. Neireupeussreupmlest Fflwirer suflens
6TGT6OT ?

a) 2 /&G Dy

b) Glssiresriy smHmi

C) Caramm sHy

d) Qemefeur &hmi

(A)a,b,c,d
(B)b,d, c,a
(C)c,a,b,d
(D)d, b,a, c

68. Inequalities in income are measured by
which of the following?

a) Lorenz Ratio

b) Theil's Index

c) Palma Ratio

d) Deprivation Ratio

(A) a and b only

)
(B) a and d only
(C) aonly

)

(D) a, b and c only

P.T.O

LN 65T6u (heussTeUHMIED 6THEIT FLPEVLD 6 (HLOTEIT
THDSHTO| 56T SjerallL_LiLiGelsTner?
a) evrgesrerv afl#lsd (Lorenz Ratio)
b) Hsv @Mluf@® (Theil's Index)
c) usvw ailFgid (Palma Ratio)
d) upprs@gemm aflglsip (Deprivation
Ratio)
(A) a wpHmib b wr G
(B) a wmmitb d o1 G
(C) a w_@id

)

(D) a, b ommyib € i’ HIib

69. Match List | with List Il

List I: List II:
A. Security Exchange l. 1991
Board of India (SEBI)
B. National Securities Il. 1992
Depository Ltd (NSDL)
C. Credit Rating l1l. 1988
Information Service of
India Ltd (CRISIL)
D. Investment V. 1996

Information and Credit
Rating Agency of India
(ICRA)

A)A-LB-1II,C-1l,D-1IV
B)A-I,B-IV,C-1ll,D-1
C)A-1,B-1l,C-IV,D-I
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(D)A-IV,B-IlIl,C-II,D-1

69. L guwiev | 2 1 ebr L 1gwisv ll-gn

CluT B Sa) D
i iquiev | L g utev |1
A. Qasuyfll iy [. 1991

sT&H6VCFehF CUTT(H

ool @) HBHlwT

B. Gragerev 1. 1992
©lFd w19 670
OLurdl L OO

C. Qg Criigmi [11. 1988
B)stTooL1TGLoOg65T Fiiaf s

ool @) BT OIOGIL_L

D. @)ssreleusivr Glossri V. 1996
(3)stT0oL1TGLOOG6ST LOHM)LD
H6rig . Criigmi

TGl 6tTH yoolt @bl

A)A-LB-1II,C-1I,D-IV
B)A-I,B-IV,C-1ll,D-1
C)A-1,B-Il,C-1V,D-I
(D)A-IV,B-IlIl,C-II,D-1

70. In the classical linear regression
model, Xi and Ui are assumed to be:
(A) highly correlated
(B) negatively correlated
(C) not correlated

)

(D) positively correlated

P.T.O

70. Herrdise Cplwsd Lsarent ey
wrdfufled, Xi wpmin Ui stsuaumm)

B BSUIL [ HTDeT?

(A) 91l jerailsd
Cariyu@ssriu’ Hersrg

(B) srgliwvswpuirs
Cariyu@ssliu’Hererg

(C) Qariyu@sHsriuL_alsee

(D) @wirwepmuwirs

CQaTLTyuBSSLILIL (HeTerg|

71. Given below are two statements:
Statement |: One of the assumptions under
OLS method states that the regression
model is linear in the parameters, though it
may or may not be linear in the variables.
Statement II: The variance of the error, or
disturbance, term is not the same
regardless of the value of the explanatory
variable under OLS.

(A) Both Statement | and Statement Il are
correct

(B) Both Statement | and Statement Il are
incorrect

(C) Statement | is correct but Statement Ii
is incorrect

(D) Statement | is incorrect but Statement

Il is correct
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71. £Cp F)rewT(® FnHMH6T
QaTHSHILL_(HsTareT:

sl |2 (Frgrrent GeopbsLLF
FEITHIHET) (pePDUNGT S)e)ILOTET IS 66
eI, Lsiremen_ey r#fl Sjereymassafs
CpflwsoyswLwgi, @ @priilepid 9z
wrPlseaflev CHMlwevTs (3)(HoHHVTD HeV6VG)

(3)6V6VTLDEV (3)(HdHHEVTLD 6THTM o MISIM G-

ammm |l OLS-e1 £1p, Lewrp 60605

GLLILILD HTeVSS6dT LommLIT(h

allerd s et @ wrmluile wallienL

CuTHLLUBSSTLY Cr wralflwrs

[OGET TR

(A) gnpmi | wHmId s pmy Il @) ressr(Bid

FlwTeTene

(B) gnpmy | wpmiid anmpmy Il @)ressr(®id

SHEUM TGN 6

(C) #mmy | sflwrerrg Sy ermeL dmmmy Il

SHUDTEIT S|

(D) enmmi | seummrestg) g ermed g pmy |l

D. Marginal I\VV. Demand Curve

Propensity to

Consume
(A)A-I1,B-1II,C-1,D-1IV
(BYA-1I,B-IV,C-1,D-1l
(C)A-IV,B-I,C-IIl,D-II
(D)A-IV,B-1lIl,C-I,D-II

72, g | 2 1 etr L 1gwev |l-gorh

GBS S D
uigwe I uigwev I

A. Gallays |. g iLeoL o)
CFwesvLIT(H

B. 2_siraf®- Il. susmss@asals
Cleuerfluf® LiwssTLm(h)

LG LILTiiey

C. Grwev ll. amréasrev—

S L Ol _6V SDFLDEIT [B]L11 6w 6uT

D. misieydasrer

V. Cxemau ausmerey

Flwmesrg|

72. Match List | with List Il

List I:

List II:

A. Convex Function

|. Basic Variable

B. Input-Output

Analysis

[l. Use of Derivative

QmiBBma
BITL_L_LD
AA-ILB-NII,C-1,D-1V
B)A-1I,B-IV,C-1,D-1i
C)A-IV,B-I,C-1ll,D-1
(D)A-IV,B-1ll,C-1,D-II

73.Match List | with List Il

C. Linear

Programming

[1l. Hawkins—Simon

condition

List I:

List II:

A. NIRVIK

P.T.O

|. A project directed to

provide piped cooking
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gas to millions of

households
B. Ayushman | Il. A scheme to
Bharat enhance energy
efficiency
C. Pradhan [ll. Export credit
Mantri Urja insurance scheme
Ganga
(PMUG)
D. Perform, V. Programme related
Achieve and to health issues in the

Trade (PAT)

primary, secondary and

tertiary sectors

Cl&TewTL 83 (1
S LD
B. @ujsigLomesr Il. 9mmev Flmewevr
UTrd CNINNOEEILYET Es
6T 6p(H SHIL_L LD
C. drgrer wigd | . sshmiwd) &1_esr
D _[TEQT HBIST STULTL (DS S L 1b
D.Qewsou®sais | IV. gribu,

6V, (WL &6V

LODHMILD T &HSHSHLD

@) rewTL_TLD LHMILD

CLPSITMTLD

(AYA-1I,B-1Il,C-1,D- IV slewmseflsd o_sirer
(B)A-1I,B-IV,C-1ll,D-I FHTHTIL
(CYA-II,B-IV,C-1,D-Il NyéHepemrasir
(D)A-1I,B-IV,C-1I,D-| QsTLiruTeT s
U igwied | o 1t Lt 1quied ll-gor S 11D
QT B Sa D
UL 1q ureD | Ut iguied Il (AYA-1I,B-1Il,C-1,D- IV

A. Blirefd |. 1lsvedlwissr (B)A-1I,B-1V,C-1ll,D-I

56T HTGOT (CYA-II,B-IV,C-1,D-Il

(@ (5L i1 35 675 b (D)A-1I,B-IV,C-1I,D-|

@l CLPpEVLD

FEWLOWI6V 6T leumuy

QULDPIBI (&6 SH

CBTHBLOTHS

P.T.O

74. Match List | with List Il

List I:

List II:
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A. Perfect l. Many real or C. yppmifleniort . sp@r
competition perceived Gumiig Lom gl wi mest
differences in Swrflliyser
products D. Asvpiflewio V. @B w&swmer
B. Monopoly I. Little or no LgleS (D& 6T
difference in @svevrs Hwmriliiy
product A)A-1II,B-IV,C-I,D-1I
C. Monopolistic [1l. Identical B A-I1L,B-1,C-Il,D-1V
competition products C)A-lILB-IV,C-1I,D-1
D. Oligopoly IV. Product without (D)A-1,B-1IV,C-1l,D-I
close substitutes
75. Arrange the following committees
A)A-1II,B-IV,C-I,D-1I _ _ _ o
appointed for the Banking sector in India in
B)YA-1,B-1,C-Il,D-1V _
chronological order:
C)A-lILB-IV,C-1I,D-1 . _
a) Urjit Patel Committee
D)A-II,B-IV,C-1l,D-1

b) Goiporia Committee
74. ulquwiev | 2 1 et1 L 1qwiev |l-gorh _ _
c) Narasimham Committee-1

QuT (RS LD
G259 d) Chakravarty Committee
U guiev | i guiev
9. + (A)a, ¢, d, b
A. : l. iy seflev
Blewmey Ll P> (B)c, b, d, a
Guiri g LISV 2 633T6W LD WLIT6UT
(C)d,b,c,a
6V6V
DAL (D) d, ¢, b, a
2 Tyl 1L
@ bslwrailsy aunifld gmMEHHTS
CeumiuirHseir
Blwblgssiul L UleTeuid & whsHemer
B. whmiif . i fev
whmiferio pumrtiuL sroafasiuy aflosiu@sse):
& 606V
Blus jebevg) a) o_afls LGLE G
CoaumurGrL .
b) CamiGumrflwr @wp
6U6M6V
Bsvem C) prdwd Geg-1

d) sésrauisd) @ w

P.T.O TRB



(A)a,c,d, b
(B)c,b,d, a
(C)d, b, c,a
(D)d, c, b, a

76. When the exchange rate changes from
1=Rs.72 to 1=Rs.68, then:

a) Rupee has depreciated

b) Dollar has depreciated

c) Rupee has appreciated

d) Dollar has appreciated

(A) A and B only

(B) A and D only

(C) B and C only

(D) C and D only

76. wrhm eSlsid $1=c5.72 &) mHg)
$1=c5.68 o8 wrmid Curg:

a) cpumuflssr iy GeophbgleTeTs)

b) Lreuflssr w1 GewppgisTeng

C) epurullsit i) o witbgierers)

d) Lrevflsst &Iy o witbglsTers

(A) A wpmiid B i ®io
(B) A wpmiid D o @b
(C) B wpmitd C o1 B
(D) C wmmiip D o H1id

77. According to Ronald Coase, which of
the following statements is CORRECT for

pollution control

P.T.O

(A) Providing property rights to polluters
and pollutes

(B) Providing property rights to the legal
institutions

(C) Providing property rights to the state
(D) Providing property rights to Trade
Unions

77. Qrrermeor Gasmevedsir gnmmiLiLiy,
wra s GUur_ig @ Lssrelmib
FnMMI&efley 61 Fiflwmerg)?

(A) wrau@ssiveuisst wpmitd
WTHUHSTH LTHSHILL L aIisEhdsE
Frsgflemiw (property rights) eurpmii@sev
(B) &1L Blmieusstiiz emhds @ GFTdg fenio
QLD F B 6V

(C) Srand@ Carggifeno aupniGse
(D) QsmifhanissisensE Qsrsg)flenin

QU LPMBI (G B 6V

78.Match List | with List Il

List | List Il

A. Conserving the | I. Indirect use value
Environment for
benefit of the future

generation

B. Search of [I. Option Value
Alternative fuels is

necessary because

TRB




traditional sources C. sr@safledphg | . perClasren
are non-renewable FHleWL_d (LD gLy

C. Wood from the | lll. Bequest Value T&HEHL_ DL

forest is useful as LT Loma Ll

timber LwesTUBHSIm G

D. Insects are IV. Use Value D. ysdflser V. vwestuir @
important as they D& T Th ST gLy

help in pollination CFiHemmHd 3
(A)A-1,B-1I,C-1II,D-IV 2 566U T6V
(B)A-I1,B-1V,C-1,D-1l (PSS WL TOTEN 6
C)A-1ILB-1I,C-IV,D-I (A)A-1,B-1I,C-1II,D-IV
D)A-IILB-IV,C-1I,D-I (B)A-1,B-1V,C-1,D-1l

78. i iguwisv | 2 1 et1 L 1qwiev ll-gorh

QT B Sa D

L iguiev |

uiquiev |l

A. erdlirsmev
Fibgp S ullerflsst
[FEITEM LD TS
D YIFSLPEEVL
LIT 815511560

l. wewmpsLi

LweTuTL (B gL

B. urgoufw
4,5 T 61 & 6T
WEF[NINEES

(LG WITHEM6U
6TETLIST6V LDTMH M)

sTMOLT(HLBemers

CxpHeugl eudwid

Il. el i waiiy

P.T.O

(C

A
A-NI,B-1I,C-1V,D-|
(D) A

)
JA-1I,B-IV,C-II,D-I

79. Arrange the following business cycles
in ascending order in terms of their
approximate duration.

a) Kondratiev cycle

b) Kitchin cycle

c) Jugular cycle

d) Kuznets cycle

Choose the correct answer from the
options given below

A.a,c b, d

B.b,c,d,a

C.c,b,a,d

D.d,a,c, b

TRB



79. Lesreumid euenflas Fpmfsener
UMD MIeT CHTTTWILDTET HT6V jeTallesr
smieuflensullsd auflenariL@sse)i.

a) BTETL_TTies) driphd

b) S_Her sripH )

C) eVt giiphd

d) gen@ert_e sriphd

£Cip QasTHHHIILL_(BsTer

ol (pLILImBISeMNe0 (hhg FMwTeT allsnL_s»uwid
@i 05 BB ey LD

A.a,c b, d

B.b,c,d,a

C.c,b,a,d

D.d,a,c, b

80. Given below are two statements:
Statement |: Social Welfare Function
(SWEF) is a sort of social indifference map
consisting of the Social Indifference Curves
(SICs) which shows the various
combinations of utilities that give the same
level of social welfare (SW).

Statement Il: Social Indifference Curves
(SICs) may not be convex or concave to
the origin.

In light of the above statements, choose
the most appropriate answer from the

options given below.

P.T.O

A. Both Statement | and Statement Il are
correct

B. Both Statement | and Statement Il are
incorrect

C. Statement | is correct but Statement Il is
incorrect

D. Statement | is incorrect but Statement |l
is correct

80. £Cp @)rewT(® FnHMIH6IT
Q&THSSLILIL_ ([DsTemeT:

ammml | Feps hevF GFweoLIT(h 6TTLIG)
FOPSH FLOS|(HLIS) OUEHETEHEHET 63 T6soTL
RH FWPS FIOF B QIDTUL DTG, B)SI
PCr jeTalleVTaT Feps HeLeWeT I 6ifld @ LD
LwsTur(hseaflest LVGaum| CFidbenasemerds
EICEIN T

g pmi |I: Feps F0FHLIS) auswereaysssir
swwliysrefllenw Curdd GallbssrsGeur
9V6VG| GLbHSHTSHEGeuT (§)eV6VT LDV

[OGEL IS

GuoGev 2_siTer gn HMIsafleT Sjig LiLienL_uflsd,
£Cip QasTHHHIILIL_(BsTer

ol 1L B g 660 (Bl LBaey LD
CuIrBSSTT LSRG CoiTH6S () Hs e
A. g ppi | opmid s poi | G)rer @b
FflwresTenal

B. & pmi | pmid s pmi Il G)ressr @i

SHEUM TGN 6
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C. mmmi | sflwrerg) ermsd smmmy I
SHUMDTEITS]

D. smmmi | seummestagy oyermev g pmy |l

Flwmesrg|

81. Which of the following is/are true?
a) Ministry of Environment and Forests in
India was established in 1985

b) Central Pollution Control Board was
established in 1984

c) Environment Protection Act was enacted
in 1990

d) National Environment Appellate
Authority Act was passed in 1977
Choose the correct answer from the
options given below

A. a and d only

B. a, b, cand d only

C. bonly

D. conly

81. LNesreumeustToummlsv e1g1/6T6m61

o sTewin?

a) @pglwralls) smI&F@Lpsd DD
ST GIMM SjewinsaasHid 1985 G)sv
plieiinc L g

b) wéHuwr ores s Grinm’ @ eurfluwib

1984 @)ev Blmyeulii’ L g

P.T.O

C) g hmIF@pe LTgISTIIY F1Ltb 1990
Qv Quppriu i g

d) Cadlw spHmiFEpsd G wepuf B
opewenrs #1_L_01977 @)ev
plewpGauppliLi’ L g

£C1p QsTHdBHILL_[HsTar

o mriLBIseRed mbg FRwrer aflspL_muwid
B0 (Hds 556y 1D

A. a whmib d w1 Gib

B.a, b, c whmib d o’ @i

C. b wr @b

D. C wi b

82. Arrange the following United Nations
Framework Convention on Climate Change
(UNFCCC) conferences in chronological
order.

a) Copenhagen Conference

b) Doha Conference

c) Paris Conference

d) Katowice Conference

Choose the correct answer from the
options given below

A.a,b,cd

B.b,c,d,a

C.c,d, b, a

D.d,c, b, a

82. m&dlw prhseflsr &TeVBlewsL LTHMLD
@&P&5 S LepbiiLy orBTL_1q67 NesTau(miD
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LTBTHSemeT HreveuflenaFiiLig
suflena1LBSS ).

a) CxrusTGan et LT HT(H

b) Gsranr wrpr(

C) urflew wrBT(H

d) & GLraflew wrpr®

£Cip QasTHHHIILIL_(BsTer

ol (LILImBISeMNe0 hhg FMwTeT allsnL_souwid
G/ O5 BB ey LD

A.a, b,cd

B.b,c,d,a

C.c,d, b, a

D.d,c, b, a

83. The movement from old level of
expenditure and taxation to a new and
higher level is called:

A. Concentration effect

B. Displacement effect

C. Inspection effect

D. All of the above

83. usoipw GFevey wHmID aifeBiL
pleweouiled @) mbg1 @b Lslw wpmid
2_Wirhg Blewevs@ BHTeIF! sTaITD

ENEINE X INIBIC\E i E TN

A @upasliL(BSgID allenerey
B. @)L bGuwirey allenearsy
C. g ie] allewersy

P.T.O

D. @)sweu yemevrdgb

84. In case of indifference curve of two
goods X and Y, as consumption of X
increases:

A. First MRS,y increases but later on
MRS,y decreases

B. MRS,y increases

C. MRS,y decreases

D. MRS,y remains the same

X wpmid Y o8lw @) ressr® GummL_sefler
FFBLIF eusmenevail) CUTpiSaenr, X
@)t misiay oHshsEnEUTS:

A. yps69s MRS,y o8lsNsHmg, o ermsv
Leresric MRSyy gewmamg

B. MRSy (@ muiglplewev LigleS1 B afldlsib)
S e

C. MRSy (@ miglBlensv LugeSL_ B all#lgid)
CRUENET

D. MRS,y (@ miglBlensv LgefL_ (b all#lgid)

LTMTLO6Y () (Hd @ LD

85.Which method can help in obtaining a
welfare improvement if externalities exist?
A. Assigning property rights and permitting
bargaining

B. Pigovian taxes

C. Regulation

D. All of the above
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85. Qeueaflliymd ClFeveyssir

@) (50 @UTE), HeveTL GuobLiT_eoL_L]
Cup sThs e 2 a|b?

A. QsrigiNepnsemar 9&iHES0 HDILD
Gurid Cuseish@ I I0FE560

B. LNGsraflwer suflser

C. pupmgupemp

D. gewar gyewersgiid

86. Arrange the following Committees of
poverty estimation in chronological order.
a) Alagh Committee

b) Lakdawala Committee

c) Tendulkar Committee

d) Rangarajan Committee

Choose the correct answer from the
options given below

A.a, b,cd

B.a,c,b,d

C.b,a,c,d

D.b,c,a,d

86. eumiewio AT 1 Hamesr Neireumid
GUSHemeT HreveuflensFiiLig
auflena1ILBSS ).

a) SjeVTd &

b) svrdLmeurevr @

C) QLT (v @ g

d) reisrreesr &w

P.T.O

£Bip QasTHHHIILIL_(BsTer

ol (mLILmBISeN 0 hhg FMwTeT allsnL_souwid
G/ 0\5H)d B ey LD

A.a,b,cd

B.a,c,b,d

C.b,a,c,d

D.b,c,a,d

87. Zero Based Budgeting (ZBB) lays
emphasis on:

a) Allocation of resources based on cost-
benefit terms

b) Unlimited deficit financing

c) Preparing a new budget right from
scratch

d) Preparing the budget, neglecting the
history of expenditure

Choose the correct code:

A. a and b only

B. a and c only

C. a,cand d only

D. All of the above

87. uBedlw 9y liueoL L C@l 5hG
Y Iwsgiaud efsSng?

a) GFevey-LiweT 9)ig LiLienL_ufled
QUGTRIGENET 5155 [H) OF i1z

b) surbupp LHPTEGeD Bl

C) yglsTas CpTL kISl @ HgHlw

Ll Qeor ewi_g swTflgse
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d) Qrsvefariiseflsr aureorhenmri
UpSsailsg) L Cgl s surilsse
Flwrer GBluf soL_s Csihes @ dsa|ib
A. a whmitb b i Gib

B. a wmmiid C i Hid

C.a, cwpmitdb d o H\ib

D. @)sweu yemevrdgb

88. Liquidity Adjustment Facility (LAF) was
recommended by:

A. Bimal Jalan Committee

B. Rangarajan Committee

C. Narasimham Committee - Il

D. Raghuram Rajan Committee

88. uswriiyyss FAGFLILIY uFd] 6THSHE
Gpaured LfBgIeDTssIILIL_ L g)7?

A. Liloed gevmedT &

B. riisrreeir @

C. mrdlibwidp @ap - |l

D. r@gumib gregesr &wp

89. Consider some of the
schemes/programs introduced by the
Government of India to enhance
agriculture productivity and farmer’s
income. Arrange them in chronological
order.

a) Soil Health Card Scheme

b) Kisan Credit Card Scheme

c) Pradhan Mantri Fasal Bima Yojana
PT.O

d) Doubling Farmers’ Income Program
Choose the correct answer from the
options given below

A.a,b,cd

B.b,a, c,d

C.b,a,d,c

D.b,c,a,d

89. aflosTws o MrisHsADsT HDID
aflaugrullseaflst aumwrarsams G ss
Qbglw SjrFTed YBlepsinGSSInC L
Aev B L_Bigsewer HrevautflenFliLig
suflena 1B Ss .

a) LT FHTHTT L L& 1L ID

b) farer HGrigLl sTir® S ib

C) Ulrgmest b soLiFed LTom Guirggerm
d) eflsusruilsefer eumwTersems
@)t g L1uTd @i 1 ib

£Cip QasTHHHIILIL_(BsTer

el pLiumisafledphg Flwrer allenL e»wis
G/ 0\5H)d B ey LD

A.a,b,cd

B.b,a, c,d

C.b,a,d,c

D.b,c,a,d

90. At present, for the estimation of GDP in
India at constant prices, which one of the
following years is used as the base year?

A. 2000-01
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B. 2010-11

C.2011-12

D. 2014-15

90. 5nGurgl, @BFwralsd Blepsvw e
aflsmevuflsy GDP wgiifi g M@, LNsireu i
AT HH6D 6Thg YT )1 LiLienL
YTLrs LWSTUHSSILGSEDSI?

A. 2000-01

B. 2010-11

C.2011-12

D. 2014-15

91. Match List | with List Il

List | List Il

A. Carl Friedrich I. Central Tendency

Gauss

B. Multicollinearity | Il. OLS

C. Mode [1l. Karl Pearson

D. Correlation V. Relationship

coefficient among explanatory

variables

A.A-1I,B-IV,C-1,D-1I
B.A-II,B-IV,C-1Il,D-|
C.A-lI,B-IV,C-I,D-II
D.A-IV,B-1,C-Il,D-1ll
91. L iquisd | o 16t L iquied |-gor

QT B Sa D

L iguiev | uiquiev |l

P.T.O

A. &rirev l. ewowipr L

coNOrM& &smev | jemey

B. uev- Il. OLS (srgmyevwr

GBIV SHBTEMLD | GHWMHSLIL F

FEITHIS6T)
C. ps® . smried Nuwiieesr
D. U Gmey IV. aflemrdsas ol @b
CRusdl LD 15 65 45 &

@)ew_Guiuimes

2 me)

AA-ILB-IV,C-1,D-II
B.A-I,B-IV,C-1ll,D-1
C.A-lI,B-IV,C-I,D-II
D.A-IV,B-I,C-I,D-1lI

92. Arrange the following concepts of
consumer behaviour in chronological order
a) Law of diminishing marginal utility
b) Law of demand

c) Revealed Preference Analysis

d) Indifference Curve Analysis
A.a,b,cd

B.a,b,d,c

C.b,a,cd

D.b,a,d, c

92. misiGauri pL_sengullsr LNsiTal(min
& (hdG1HBHENET &TeveuTlenaLiLilg
suflenF1LBS S| b
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a) GPPHgICFD GniBlBlewey LwesTUTL (b
E)

b) Cxemeu ailg]

¢) QeusNiIL@SS L L ol priL
L@LILTiiey

d) BB lg susmere) LGLLITIIE
A.a,b,cd

B.a,b,d,c

C.b,a,c,d

D.b,a,d, c

93. When each player has chosen his or
her optimal strategy given the strategy
chosen by other players, the situation is
referred to as:

a) Wicksel's Equilibrium

b) Prisoner's dilemma

c) Co-operative Game

d) Nash Equilibrium

93. wmm efriser C5iH6SHSS

> SHs &MEHD CHTaT(H), s Gaum(m
ST Bid 5510 2 5hs 2 Splewuwis
CoiholsHlEGD Gpplenev sTeiaITn)
@O Lu@GFDg?

a) all&olFedlsiT FLoFlewev

b) ewagluilsir B)&H5HL B

¢) & Gy aflewerwir G

d) preig FLoBlemev

P.T.O

94. A firm has the following total cost and
demand functions: C= 1/3 Q* -7Q?
+111Q+50, Q=100-P. Find the profit-
maximizing output and maximum profit.
a) 50 and 100

b) 111 and 2150

c) 11 and 111 1/3

d) 7 and 84

94. @ pimisusg gl CloTss ClFave)
womid CHemeud griryser: C= 1/3 Q° -7Q?
+111Q+50, Q=100-P. Qevrusemns
BB SSID Cleuetluf® wpHmiid
SFBLL_F E)0OTLISDSHH SesTL BlwieyLb.
a) 50 wmmip 100

b) 111 whmyb 2150

c) 11 wpmio 111 1/3

d) 7 wpmio 84

95. According to Mundell, the benefits of
an optimum currency area include:

a) Greater fiscal independence

b) Reduced transaction costs and
exchange rate stability

c) Higher inflation rates

d) Automatic employment generation

95. YeTEL_svedlesT g HMILILILG, R(H 2 HhS
BHTewTwIl LI@&SulledT HeiTewLose6:

a) 9|9ls plFl sHHSITLD

TRB



b) Gwpibs LNeiissmeans Qsaeaser
LHMID rHn al#le VST EHseTenLo

C) 9|Bl& LewTaldhd 61l BIds 6T

d) sreflwnis) GaienevaumiiriLy o (elTddLb
96. Assertion (A): Federal finance involves
distribution of financial resources between
Centre and States.

Reason (R): States in a federation are
financially independent of the Centre.

a) Both A and R are true, and R is the
correct explanation of A

b) Both A and R are true, but R is not the
correct explanation of A

c) Alis true, R is false

d) A is false, R is true

96. s pmi (A): gL & B3 eTedTLIG)
LogFIwi LoDYILD LOTHIE YT 55 e S

@ ewL_Cuw Blg) euerhissnarts L&iaemns
CIEEAER

sryesrid (R): o Lm’ Auflsy o erer
LTHlVBIGET Blg) FHwrs weHHw S rens
FTTHBTTLO6V FUlTEITLOT S D_6ITEIT6IT.

a) A wpmiid R @) resr®io o_sisrenio, Guogiid
R steirig) A-d@ sflwrer eflerdssid

b) A wpmib R @ ressr®iv 2 _sssremio,

9 ermev R steirig) A-&@ sflwrer allerésid
9|6V6V

C) A 2_airewio, R s6um)

P.T.O

d) A seumi, R 2_eisremio

97. MSMEs in India are classified mainly
on the basis of:

a) Employment generated

b) Investment and turnover

c) Export capacity

d) Profit earned

97. @ pFwrallsy MSME-ser 1pédlwiors
STHET I1g L1LIeHL_ufl6d

UGB LILIBHSLILI[H)%E) 65T m 61 ?

a) o eurssriLr 1 Goleneva Tl

b) ze5® wHmib allHmiepse

C) erpmiog] Smsir

d) mi L L @eoriiid

98. Assertion (A): Marginal Productivity
Theory assumes perfect competition in
factor markets.

Reason (R): Under monopoly, factor
rewards equal average revenue product.
a) Both A and R are true, and R is the
correct explanation of A

b) Both A and R are true, but R is not the
correct explanation of A

c) Ais true, R is false

d) Both A and R are false

98. 5 i (A): @B Bemav

2 MUSHPGHPmesT CHTL LT &Tyesv]
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FhewgHerlsy Blewmeyls Gumt iy
BlVOQUSTSHS 5(BHSHISDSI-

asryewrd (R): epomiflewouilsy amresst]
Cleu@Lglaser FrrFfl aumeuTil 2 HLSSH %S,
FLOLD.

a) A wpmith R G rea®ib o _aremio, GLogiid
R stetrigy A-&@ aflwuret eflerdaib

b) A wpHmib R @)reisr(hio 2 _swsrewio,
operred R steirig A-& @ sflwrer aflardsid
9|6V6V

C) A 2_airewio, R s6um)

d) A wmmiib R G)ressr@i seum;

99. Assertion (A): Horizontal imbalance in
federal finance arises due to unequal
resource distribution across States.
Reason (R): Richer States have more
revenue capacity than poorer States.

a) Both A and R are true, and R is the
correct explanation of A

b) Both A and R are true, but R is not the
correct explanation of A

c) Alis true, R is false

d) Both A and R are false

99. s pmi (A): sl L& BlFluflev
HewL_ol_ L FoiflesTemio

LT BleVEIS% EHSHBlewL_Gur FLowmHm auer

Al BICWTHS STV 6T(LPH MG

P.T.O

srrentid (R): LewT&EsTr rBlevBIsEns s,
sJeWLp LOTHleVBIGem6T el Fla e (heumiil
FIMSIT 2_6Teng).

a) A whmib R @) ressr@ib 2_aisrenio, GLogiid
R steiruigy) A-&@ sflwrer aflerdasid

b) A wpmid R @)reswsr®id 2 _sssrewio,
oeormev R ereirig A-d@ #flwre aflerdsid
9|6V6V

C) A 2_airewio, R s6um

d) A wmmiib R G)ressr®ib seumy

100. A multiple regression model involves:
a) One independent variable and one
dependent variable

b) One dependent variable and two or
more independent variables

c) Two dependent variables and one
independent variable

d) Only qualitative variables

100. o 6L LeTaaremi_6y THM 6Ten G
O rerT(HeTeng?

a) @ FTIm Ml WHMID PG FTiL wTH]
b) @ #riry wrpl wHmib Grew () Ssvevs
9SM@& CmuLl L FTyr wrmlser

C) Gen () ity wrBlssT HDID PG
Frrm wr)

d) srwrer wrPlsewer wi HGLo
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101. Which Finance Commission
introduced the concept of “Tax Devolution”
as a share of net proceeds?

a) 6th Finance Commission

b) 7th Finance Commission

c) 10th Finance Commission

d) 12th Finance Commission

101. s165 B& @ “eulls ey’ sTedsrm
HHSWS BlaT aumeuTulledr LIBIsTS

B epsiLBS S ?

a) Bougl plsle &

b) 7eug BlBls @w

¢) 10sug) plgls Gup

d) 126151 Bl5lé &w

102. Which of the following was the first
industrial policy of independent India?
a) Industrial Policy Resolution 1946
b) Industrial Policy Resolution 1948
c) Industrial Policy Resolution 1956
d) Industrial Policy Resolution 1991
102. #5pglr @pglureilsr g
OsTlvgImM Q& TeTeNSE 6157

a) OsTlevgiemm Q& TeTend & MLOTEsTLD
1946

b) Qariflsvgienm GsTeirens &iomerid
1948

C) Qs riflevgiemm Glarsirenas &irwrerid 1956

P.T.O

d) Qasriflevgienm G&meTends & TomesTLd
1991

103. The Industrial Policy Resolution of
1956 is also known as:

a) Bombay Plan

b) Nehru Plan

c) Economic Constitution of India

d) People’s Industrial Charter

103. 1956 oyib oy v 67T GG TLflVGIHD
QaTeiTena HioreTid sTeuaumrm)
SBwiL®S g ?

a) Libumil # L ib

b) Cmm S 1b

C) @ pslwralsr QurmerTgTy

S rFuwievenLoLiL]

d) waaser GG TlevgIewM FTF6sTLD

104. Assertion (A): The Industrial Policy of
1956 classified industries into three
categories.

Reason (R): Category A was reserved
exclusively for the private sector.

a) Both A and R are true, and R is the
correct explanation of A

b) Both A and R are true, but R is not the
correct explanation of A

c) Ais true, R is false

d) Both A and R are false
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104. s pmy (A): 1956 Qg riflevgienm

Q& TeTems CHTLHVHM6T CLpsTm)
difleysarrs aimsiu®Gsswsg).

asrrewrd (R): Ufley A NréslCusiors
SSTUWITT HIPMESSTS PHIHHLILL_L_F.

a) A wpmiid R @) resr®io o_sisrenio, Guogiid
R stetrig) A-&@ sflwrer aflerdsib

b) A whmib R @)ressr(hid 2 eswremio,
perred R stetrig A-é@ sflwrer aflardsid
9|6V6V

C) A 2_airewio, R s6um)

d) A wpmiio R @res®io seum)

105. Which organization handles
disinvestment in India?

a) RBI

b) SEBI

c) Department of Investment and Public
Asset Management (DIPAM)

d) Planning Commission

105. @ pglwrallsy 1psHeSL B aillevdsev
Lewllenww 6Thg S|EMLOLIL| DS W TEHSI D)7
a) RBI

b) SEBI

C) @z5® wHMIb LTS CIFTHS)
GLeVTeNTEMLOG FlewM

d) sl LS5

106. “Make in India” initiative primarily
promotes:

P.T.O

a) Foreign imports

b) Outsourcing abroad

c) Domestic manufacturing and MSMEs
d) Public sector dominance

106. “Gus @)er @)HHwr” pssrpwhd
WPSBWLTSE 6Tewg 2md @ allsHng?

a) Ceuaflpr(h G)mdELoglser

b) CaueliprGsaflsd @) mba 2 Hewerts
LM 6V

C) 2 siBTi_ (B 2_Hiss wHmiio MSME-ser

d) Qurgisgienm 9 FlEsHM0D

107. Which statement best describes the
g-theory of investment?

a) Firms invest based solely on minimizing
production costs

b) Firms consider the expected present
value of a project to make investment
decisions

c) Government intervention is necessary to
determine optimal investment levels

d) The cost of capital is the only factor
influencing investment decisions

107. ywseS1 et Q-CariurlewL Anbs
wpewmulled afleurld @b gnhHm) 6157

a) Plmisuermbiser 2 LGS ClFeveayHemer
' HCW Yl wTsHd 6% et (D

CERICORAETEAG i
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b) plmisussiiger gl 1_gglss

ST FUTT&ESILGD BHPSTE WH 1L
BB PSTLB) P19.0|H6T 671(5)% ] s3TM o
C) 2 &% BB Blevevsevens
Fireflss 9 raTnis Hemeoul® 9euduibd
d) cpevgerd GlFsvey wi HGL WHeSL B

Py BewETLl LITSHEHSIMGI

108. The business fixed investment
depends on:
(a) Marginal Product of capital
(b) Real rate of interest
(c) Depreciation Rate
A. (a) only
B. (b) and (c) only
C. (a) and (c) only
D. (a), (b) and (c)
108. suswfls Blewevwirer 1psHeSH TenGE
FTi5351?
(8) eyopersHer GuiFBlme o pLss
(b) o_arewowirest aul’ 1y alldsid
(c) Gapiiomer aildlgLb
A. (a) i @b
B. (b) wpmiid (C) @i
C. (a) wimitb (C) 1o Gid
)

D. (a), (b) wpmid (C)

109. Consider the following statements

regarding the Retail Direct Scheme of RBI:

P.T.O

Retail investors can open a Retail Direct
Gilt (RDG) account with RBI.

Investors can invest in both primary and
secondary markets.

(A) 1 only

(B) 2 only

(C)

(D) Neither 1 nor 2

Both 1 and 2

109. RBI-@)eir flsvsvemm Corig F L 1b
QT rureT LeTalLi g HnismeTs

& 61 63T | 1 61T

Fevevemm pHedL L rerigser RBl 2 et
Fevsvemm CrIig HleVL HemTHenHSH
$M&H&HEVTLD.

PSS L TETT&H6T LpSeTento LmHmILD

@) renTL_mib Klenev FhensEaT ()T ey alid
S50 (H GlFiwievTLD.

(A) 1 @b

(B)

(C) 1 wmmid 2 @)ressr(R)d
(D) 1 @)svemsv, 2id (F)sLemsv

2 (i

110. Assertion (A): Fertility rate refers to

the average number of children a woman
bears.

Reason (R): It is a demographic indicator
of population growth.

(A) Both A and R are true, and R is the

correct explanation
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(B) Both A and R are true, but R is not the (b) suewa | Lilewip
correct explanation (c) suema Il Lilewyp
(C) Ais true, R is false (d) poLIBSS6TTEMLD Blewev

(D) Both A and R are false
112. Which of the following is a key feature
110. #pmy (A): sHeyMIS6L allElS1D 6T6TLIG
of Tamil Nadu’s economy?
(1 LWt FTOIM (h&hEHLWD FrmeFif]
(a) Predominantly agrarian economy with
GYBDSEDETS GBS DS . e
low industrialization
sryenrd (R): @)g) waser CsTenss
(b) High agricultural productivity and
sueriFFuiledr Lysireflalleurds
industrial diversification
GDISTL1gWT G L0
(c) Reliance solely on service sector
A) A wpmib R @\resst(hid 2_ewremip,
") e 3 o (d) Minimal urbanization
Guayid R stesrig Fflwmest aflerdssip
112. tsireupeussreupmlev 611 HLOlpHTL B
(B) A wpmib R @)rewsr(hib 2_sworemio,
CUIT(HETTHTTSHH6T (Lpdhdl HDFLOTEHLD?
gperred R ereirigy) sflwrer aflerdsid
(@) MBS OB TLHEVLOWILD TS5V _65T
9[6V6V
EUHLOLITEYILD CaUaTTERTENLD FTTHD
(C) A 2_awremio, R eumy
T (HOTTSTTLD
D) A wmmiib R @) ressr(hid seu

®) e BUTGD Sop (b) o188 GeuarmewTenio 2 MHLIGHSS medt

111. In hypothesis testing, the probability wHmib CsTilvgienm LVCsumiuim(h
of rejecting a true null hypothesis is called: (c) Gremeus giswmenw w1 HGL FTihHS
(a) Power of the test CUIT(HETTSTTLD

(b) Type I error (d) MBS B TLOWILDTE56V

)
)
(c) Type Il error
113. Tamil Nadu’s contribution to India’s
(d) Level of confidence
GDP is approximately:

111. cypovd &HFHICHTemOT

(a) 3%
2 IHLITRTSHTSH () (HHSELTHILD (b) 6%
BITTEH&HGH0D FTrHBHsHTnm| eTeeuTm) (©) 8%
ENEINE X NIBIC\E I E TN (@) 10%

(a) Gergemerullesr Fod]

P.T.O TRB



113. @iglureilsr Qures o stHr (6
o mHug#lufled (GDP) s1flipsre ig6ir
LnigsefllIL) gomi:

(a) 3%
(b) 6%
(c) 8%
(d) 10%

114. Which sector is the largest employer
in Tamil Nadu?
(a) Manufacturing
(b) Agriculture
(c) Services
(d) Construction
114. 510ppT 1960 HH 5 CausevauriilienL
QUPBIGLD HIsDD 6THI?
(@) 2 pusgls giwm
(b) Geuerreisremio
(0) Gramouss giowm
)

(d) sL_@rerd gHiemm

1156. The Dravidian Model of Development
emphasizes:

(a) Rapid urbanization and neglect of rural
areas

(b) Social welfare, industrialization, and
inclusive growth

(c) Free-market liberalization only

(d) Agriculture-based growth with minimal

industrial policy
PT.O

115. grrail_ werGarhn wrdi

I IUTEEIRTE TR

(a) aflewreumest B ATLOWILLTESHE LoMHMILD
Srmrioligm Lmdssemiliiy

(b) Fepas BeveT, GBTIAdLOWILLTIHSE LHMILD
SUILTeUTET auaTiss]

(C) #apr shews Spbgieill_sd i BHib

(d) @i CaTifld ClsTsiTens L st

GoUSTTENTERLD FTTHS 6UETT 5

116. Which is a major challenge in Tamil
Nadu’s agriculture?

(a) Surplus rainfall and flooding

(b) Water scarcity and over-dependence
on MoNsoons

(c) Excessive mechanization

(d) Lack of agricultural research

116. s101pBrL 1967 Ceusmmessrem Louiley
WPEHENW FeureD 617

(a) 9)% wew WHYID ClousTarliClLImHs:E
(b) gewrenfi uppTEGD WHMID e

FTTHD (HLILIG]

(C) o FlaLiLguwimest @) wibd)rLowILDTd g6V
(d) Geuarmeser gy rriidFd LHDHTEHGHeHM

117. Which sector contributes the largest
share to Tamil Nadu’s GDP?
(a) Agriculture

(b) Manufacturing
TRB



(c) Services

(d) Mining

117. 0BT 1967 Qrés o BT ()

2 HuGFlEG I F)s ukisefllienLr alpriEib
Blw 61517

(a) Geuermesremio

)
(b) 2 pusgls g189m
(C) Cremaug; giswm
(d) sriss sieom

118. More than 40 percent of factory
employment was in which three states?
(A) Karnataka, Kerala, Andhra Pradesh
(B) Tamil Nadu, Gujarat, Maharashtra
(C)

(D) West Bengal, Odisha, Bihar

Uttar Pradesh, Punjab, Haryana

118. Qg rifihorensy GarspevauiiiLseaflsy
40 #36f555D G0 CevraTear sThs
AT TEVBISTNS o_sireres?

(A) siprisT, GarerT, oybSlrT

(B) 31010p1®), Ge2rms, wesTrTeipgrm

(C) o_sarinlly@sain, LEpars), anfwmeTm

(c) Ariyalur Cement

(d) Tiruchi Boilers

)
)
)
)

(D) Gum@ susisTearid, piga, LT&TiT

119. Match the List | with List Il

List | (Districts)

List Il (Industrial

Clusters)
(a) Coimbatore Textiles
(b) Thiruvallur Automotive

P.T.O

(A) (a-1), (b-2), (c-3),

b-3), (c-2),

), (d-4)
) (
) (
) (

d-1)
d-2)
d-2)

) (@-1), (
(B) (a-4), (
(C) (a-3), (
(D) (a-1), (

b-4), (c-1),
b-4), (c-3),
119. U igwed | whmin || QuIrmbs)s:
(a) Garwibyggri — Cpsey
(b) Speusirespii — 94" Cr_rElomL g6
(C) Syflwgri — ACIevT (B
(d) Hpéd — Qmraamavsir
(A) (a-1), (b-2), (c-3), (d-4)
b-3), (c-2), (d-1)
b-4), (c-1), (d-2)

), (d-2)

) (@-1), (
(B) (a-4), (
(C) (a-3), (
(D) (a-1), (b-4), (c-3),

120. The nodal agency for investment
promotion in Tamil Nadu is

(A) SIPCOT
(B) TANSIDCO
(C) TIDCO

(D) Guidance

120. s0pp T 1960 pgHeSL 6w L1 Gl (hd @& LD

WPSHW PSHeoLD 617
(A) SIPCOT
(B) TANSIDCO
(C) TIDCO

(D) Guidance
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121. Which of the following statements is
true about Tamil Nadu’s educational
indicators in 2023-247

(A) Its GER for higher secondary schools is
lower than the national average.

(B) It ranks third in School Education
Quality Index (SEQI).

(C) It has the lowest dropout rate in
secondary education in India.

(D) Its secondary GER is below 90%.
121. 2023-24 oy10 oy 60719.60 SLODPBHTL(H)
sevall GPIuf Q6T GBS

L6bTeu (HeuaTauH ML 6TE| © _TenLowIT6esrE)?
(A) Gusvplemsvrs usitel&EmeHETT CHdW
grrafepweall & @ewmeurs 2 _6rearg|.

(B) usirells ssvalld Hrd ol 6lL_ssr §)6v
AWSTHTID G)L_SFeD 2 eireng.

(C) @revsri_mid Blemevds sevaflufled
@hFwraisd Gemmbs allevasy aildlsL
OHTeITL G

(D) @ ressrmid plewev GER 90% & @

GHDDAUTSH 2_6TATH].

122. A significant challenge in Tamil
Nadu’s industrial sector is:

(a) Lack of labor availability

(b) Frequent labor strikes and skill
mismatch

(c) Low entrepreneurship
PT.O

(d) Excessive government subsidies

122. 510pmri_iger Qsrifldgom
SIwMUileD 1PpdHEW FeursD 617

(a) Gpmiflovoreni LuppTHEGD

(b) @yq&51q Ogriflevreri GUrrTe L BigssiT
LoDYID ST ClLITHHSTEw LD

(C) @ewppbs BT (pewarTesssimsLo
(d) D1 oo wreflwissr

123. Which political party is recognized as
the starting point for the organized
Dravidian movement?

(A) DMK

(B) AIADMK

(C) The Justice Party (South Indian Liberal
Federation)

(D) The Swaraj Party

123. puphisewdsiing L Srrefl

B uGEHSBH T CGTL GHLOTSH 6T
SBSULGEDSI?

(A) Sps

(B) o18leps

(C) )& &4 (Qper @)hdw e0lLiTsv
&10BLoeTesTID)

(D) #ourmrsn &4

124. In the context of the Dravidian Model,
which reform relates to women’s

empowerment?
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(A) Reservation for women in Parliament
(B) Granting property rights to women in
ancestral property

(C) Abolition of sati system

(D) Mandatory participation in armed
forces

124. Syrail wrfuiled Queseaflsr
SIS TrafliiLL 6T QGTL M je»L_w
Figlmss1w 61517

(A) waofl @ LTTTERLSTDSSIED 25155 ()
(B) wryd QFrgglev GlLissTsEnd: @ 2 flewLo
SULPTIG 6D

(C) 31 Lpdasms RSB

(D) @pwyystivenuilsd s mw usGsmLy

125. The Pudhumai Penn Scheme is a
revamped version of which scheme?

(A) Tamil Nadu Girl Child Protection
Scheme

(B) Chief Minister’'s Comprehensive Health
Insurance Scheme

(C) Moovalur Ramamirtham Ammaiyar
Memorial Marriage Assistance Scheme
(D) Amma Two Wheeler Scheme

125. “ygiem Quent S L 1b” 6Thg LiswLpW
A 1_sHesr GobLiBSSrin 1

ULg eULOTGLD?

(A) BLODBTH ST GLPbOS LTSISTLILS
A L1b

P.T.O

(B) wssauit pugswwrsr ssrsT
ST H% £ L ib

(C) epougyric @rrioriflisid SjibenLowTi
Sptoom o_golls Hii L i

(D) oowr @)mFsHsT auTHeTs SlLL 1D

126. Which of the following is a probability
sampling method?

(a) Convenience sampling

(b) Snowball sampling

(c) Stratified random sampling

(d) Judgmental sampling
UlsiTahoussraupmled sTgl FTd5lwdsem i
wrf TG 1pepm?

(a) susglwrer wralfl eT(BiLy

(b) el 1g wrdM ety

(C) 9I®56 Frpp wrglfl @iy

(d) Siwrer oy iuspL_ulleorer wrai

eT(hLIL

127. The mean, median, and mode are
measures of:

(a) Dispersion

(b) Central tendency

(c) Correlation

(d) Index numbers

127. sgrad, 5H&ECHT®H LHMID I Sls
PSS S YaWeHer sTHHSTeT
S| ST6Y 6T 7

(a) ureusv
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(b) swwowis Curd G,
(c) Qariiry
(d) MIuTL_ (b sTevsTS6IT

128. The standard deviation is a measure
of:

(a) Central tendency

(b) Dispersion

(c) Correlation

(d) Regression coefficient

128. plswevwiresr FHmev sTHMHSET6wT
9|OTeUT&HLD?

(a) swwwis CurdE,

(b) ureusv

(c) Qariiry

(d) UetresremL_ay @emrssib

129. Which method measures the strength
and direction of relationship between two
variables?

(a) Regression

(b) Correlation

(c) Index numbers

(d) Time series analysis

129. @)revor(® LorWledlssEphds & emL_uflevmsr
2 mailsr euedlenio LHMILD HewFenws
Sjerall @b pewm 61517

(a) UlsiresremL_ey

(b) @srity

() &MTL® sTevstassir

P.T.O

(d) Grirgpewm LiGLILTUIEY

130. InY = a + BX + u, B represents:
(a) Intercept

(b) Slope coefficient

(c) Error term

(d) Standard deviation

130. Y = a + BX + U eretrp FoeTumi_ig6v B
GM&H @D Clummer:

(a) @ewr_paid

(b) #Mey @ewrasid

(0) awip = mitty

(d) Plewvwirer Azmev

131. Multicollinearity in regression means:
(a) Correlation between dependent and
independent variables

(b) Correlation among independent
variables

(c) Unequal variance of errors

(d) Autocorrelated errors

131. Netreren ey wrdfuiled LsTipHs
QBTLTL 6TEdTLIG):

(a) sy wHmid FwrHer
wrnedlsehsdlenLuflsvrer GEmLiy

(b) wrgssr wrmedlsEnddslenL_ulleomret
OHrLiry

(c) tewpaseflsr FowmHm LiFeusy

(d) seresllFens GHTLyewLw LNewLpdseir
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132. Which of the following is a non-
parametric test?
(a) t-test
(b) Chi-square test
(c) F-test
(d) Z-test
132. Msiraipeusrauppled s181 Sjemeym
sryrg Cxrgemesr (Non-parametric test)?
(a) t-Gargemerr
(b) swas Fg17 CFrgHemert
(c) F-Gargener

)

(d) Z-Ggrmemesr

133.The method of least squares is used
in:

(a) Time series smoothing

(b) Linear regression estimation

(c) Hypothesis testing

(d) Sampling

133. gz FgITRISST LD STHHGLI
LweTLBFE MG ?

(a) Gpirpewm F6TLEGS

(b) CrMwsv LesrerrswL_ay wif®
(€) amEHICHTeir CaFTHemevt

(d) wref @iy

134. In time series analysis, a seasonal
variation occurs:
(a) Randomly

(b) At regular intervals within a year
PT.O

(c) Over decades

(d) Only in stock markets

134. Gpirpsmp LGLILTION, LIH6
Goumiur(® st1Gumrgl erHUBFE M7
(@) £rpp evpullsd

(b) T @S G spapmigsmes
B)ewL_Glsuaflaseaflsv

(C) Luev BFTIBEIHe6

(d) umig Fhewasaflsy L (HILD

135. Which of the following is an example
of a sequence?

(@)2,4,6,8,...

(b) {x | x>0}

(c)y=3x+5

(d) 0.5, 0.25, 0.75

135. Uereumeusstounmilsv 61 euflenguilesr
R TOSHISHTLTGD?

(@)2,4,6,8,...

(b) {x | x>0}

(c)y=3x+5

(d) 0.5, 0.25, 0.75

136. In mathematical economics, a
function is:

(a) A set of unordered pairs

(b) A mapping from domain to exactly one
element in the range

(c) Any collection of numbers
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(d) A distribution of income

136. sewfla s QuUTHeTTSTTSH6V,
GFwevur® (function) ererLig):

(@) pwBiann Gemrgseflsr Csr@iy
(b) Nr@Gsa8560 (B euribLiled o sirer
2Cr WHIILEHSTET ueHTLIL LD

(C) erevvrsaifletr G\ M@, L

(d) euLomestis Lliey

137. The Laplace transform is primarily
used in:

(a) Regression analysis

(b) Solving differential equations

(c) Calculating index numbers

(d) Sampling

137. suriisven wrHmid GLIHLOLITEYILD
THHGL LwSTUHSSILGEDSI?

(a) UsiresremL_6y LigLiLmiiey

(b) Gaumiuimt_ B FweTUTEHEHDET Fidsds
(C) @BUTL_(B sTelsTaHEDET G6mTd>dL

(d) wrdf er@Liy

138. In a multiple linear regression model,
heteroscedasticity means:

(a) Constant variance of errors

(b) Non-constant variance of errors
(c) Multicollinearity among regressors
)

(d) Serial correlation of errors

P.T.O

138. Lo Crlwed LNsTaranLay wrfufe,
Qant Grrew@sLreviy AL iy sTeTLIS):

(a) Neppsaflear KlapawTeT LiTas

(b) Newpsafer Kapaormi Liras

() swrar wrmledsensfaL_ulrer
LeTapass Qe

(d) Qsri QsriiyemLw Nevpser

139. The input-output model in economics
was developed by:

(a) John Maynard Keynes

(b) Wassily Leontief

(c) Paul Samuelson

(d) Ragnar Frisch

139. o_srafBH-Geuaflluf® wralfevws

2 (HeurdHalwieu:

(a) someir Guossmi GaiiisiTsiv

(b) surerded) e9QuimsiTie sl

(¢) umev FrpGeusvaFssr
)

(d) srdesrmi LNileig

140. In sampling theory, the standard error
of the mean decreases when:

(a) Sample size decreases

(b) Sample size increases

(c) Population variance increases
)

(d) Population size decreases
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140. wrgf Carluri 1gev, Frreflullesr (C) W& 6T GFTemas LiTeuey
plewsvwirest Llewp sTiCLITS GHewmEIMGI? OVEAL A SEAETHIEINL o
(a) wrdf oerey GHewmubGLirg) (d) waser CsTend Hj6Tey &H»MULLELITS

(b) wrdf oyemrey o Hla M@ LT
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EDUCATION PSYCHOLOGY
SeLadl 2 _araillleL

Q.141) The Mid-Day Meal Scheme has been
renamed as which of the following?

(A) PM Aahar Yojana

(B) PM Annapurna Scheme

(C) PM POSHAN

(D) PM Nutrition Mission

Q.142) The main goal of the NIPUN Bharat Mission
is to ensure foundational literacy and nhumeracy for
children by the end of which grade?

(A) Grade 1 (B) Grade 2

(C)Grade 3 (D) Grade 5

Q.143) “Jaadui Pitara” is mainly targeted for:
(A) Secondary school students

(B) Parents only

(C) Teacher educators

(D) Foundation stage learners

—_ ~— ~— ~—

Q.144) “Integral education” covering five aspects of
human development is a concept advocated by:
(A) Sri Aurobindo

(B) Jiddu Krishnamurti

(C) Vivekananda

(D) Tagore

Q.145) Who is considered the Father of Sociology?
(A) Max Weber

(B) Auguste Comte

(C) Karl Marx

(D) Emile Durkheim

~ -l ~— ~

Q.146) Rousseau’s educational philosophy best
supports which concept?

(A) Societal control

(B) Naturalistic development

(C) Industrialization of education

(D) Rote memorization

—_ ~— ~— ~—

Q.147) When was Anna University, a premier
institution for engineering and technology,
established?
(A) 1929

(C) 1982

(B) 1957
(D) 1978
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0.141) W 2 ewTeys FL L LD @)eieiTm)
wpIQuwAL_Liul B ererg?

(4) PM g,ammg Guimggestm

(B) PM Sy estesLyiesstm S 1_Lb

(C) PM GLIToWGT 60315 [5]7LO TG8T

(D) PM oa11" 14555 @) a5

0.142) NIPUN umgg S 1L g@er (ps&Hw GprssLd,
GBS SHET 61hS oG LiLer (LpLg@fled
YL L& SONWmey LoPMILD 6TeTRTHEH L]
Cumieuens 2 1B OFUIISTGLD?

(4) eu@Liy I (B) au@LiLy 2

(C) au@LiLy 3 (D) @@L 5

0.143) “gongrull 1985 mam"- AeST (LLSHF W Q)5 &?
(4) QueSsTL_TLD [BlEN6V LD TESSTo F5%aT

(B) QupCmrgser oL BLd

(C) R Hw g sevaflwmerd

(D) 219 L1LIGHL_ [B6H6V LD TGEST6U 7% GiT

0.144) wesfls uaTiFAUST @ESH Y LOFBISW QT
2 QTATL EHW  “@hEIHwenThS Hevall”  eTeID
FBBMS eS| DIS B au:

(A4) uf gl Csm

®) -6 Dvapemrapiss

(C) NGousmerps i

(D) 11

0.145) FeLp %@ GO)GST B e G 6TGTM F(5SLILI(B LIG T
wmg?

(4) Godav GlauLig

(B) QpsevL” SabL”

(C) STH6V LDTIS e

(D) 611860 L_J&0)suiLh

0.146) enGFrailar s0ails $ESIQULD 6THS F(HSMS
FpLLITS Y FHSFDH?

(4) FeLps HL_HLILIT®

(B) @Qupensd auariss)

(C) sevailufler G)gmLleOLD W LD 75560

(D) LoGTLILIML_LD

0.147) Qumpluflwied LopmILD
OFTPOBIL LISHDEHTGT (LPSGIGOLD B0 6 GTLD TGS
<2 GUSTGHSTIT LIS VSBELPSLD e1LIGLITG)
Boieuiu L g?
(4) 1929 (B) 1957
(C) 1982 (D) 1978
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Q.148) Who is hailed as the "Father of the Tamil
film industry" and is known for producing and
directing the first silent film in South India?

(A) K. Balachander

(B) Dada Saheb Phalke

(C) R. Nataraja Mudaliar

(D) S. S. Vasan

Q.149) Which Chola king is famous for his naval
expeditions that extended the empire to
Southeast Asia?

(A) Rajaraja Chola |

(B) Rajendra Chola l

(C) Kulothunga Chola |

(D) Adityal |

Q.150) Human brains having enactive, iconic and
symbolic modes of representation. This concept
formation was given by

(A) Bruner

(B) Pavlov

(C) Piaget

(D) Thorndike

Q.151) Pre-operational stage is one of the
important  stages of Piaget's cognitive
development between

(A) Oto 2years

(B) 11 years and above

(C)7to 11 years

(D) 2to 7 years

Q.152) Physical developmentis .
A) Quantitative in nature

Qualitative in nature

Reflective in nature

Continuous in nature

~—~

(

(B
(C
(D

~— ~—

Q.153) In Pavlov's classical conditioning, the
unconditioned stimulus (UCS) is a stimulus that:
(A) Elicits aresponse only after repeated pairing
(B) Elicits a response without prior learning

(C) Becomes neutral after conditioning

(D) Is the same as the conditioned
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0.148) "s0ps PengLiuL g SHpUIeT FHhens"
GTGT M) GumppLiL®ueig LopmiLd
O\g &6t 5% wi Tl Gor TER) 201G LD G
gLl s WSS QUSHWalF wTh?

(4) C&. LTeVFHS T

(B) 3151 F1Gam Ll LT Gs

(C) Q0. BL_TT8Y (LpSSIW T

(D) 6Terd. 6TaW. GUTFGET

0.149) 165 Gamyp eiery OCGeTIHLPEG 2 FwT
QeI BTG Gugrens eSS w
SL_PLIGHL LI LILIGSTBIS @SS MHLI L|sLH0)LIDDeT?
(4) @urganmey GaFmipest I

(B) @unGeap&r Camipest

(C) &Cewnsgimis CFmper I

(D) AFgwrl

0.150) wefls  apewerwnesg GClFwedLIB Blemev,
2 (haus plenew Lopmid GO ® Blewev GLmrein

5169 VS QTGO L_WLIF] - GTGTD EIUELG)
2 (hUTEFH Wald:

(4) Liemestd (B) uraiGavmal

(C) QurGgo (D) &ricsIenL_&

0.151) Qeweysd wWPUL L Bl  6IeTLIg
LwurGgullest PSP T uaTidd Blewevsafed
6TBS QUWFGT(HSHGHL LIL L FI?

(4) 0 (LpSev 2 WG] Uen T

(B) 11 auwig| LopmILD 9FHm S GLoed

(C) 7 (psev 11 auwig) aueny

(D) 2 (LpS® 7 QWG| T

0.152) 2 I QUGTIFH) 6TGOTLIG)

(4) QaTd)L_& 19 W S6T6HLD

(B) 37 219 LiLienL_ufevT6sT F6Te9 LD
(C) Kr@L1edLiLy SesTenLp

(D) Q& TL_FFF WIS FGOTEHLD

0.153) unalevailesT Lurgd LW LIPSSHLILIBSSeS)6D,
Blupsemear @Qeewrs grenthsew (UCS) 6IerLIg)
1SS FTeST(H B VTG LD?

4) et eay@®Lw Qeanewss LInGs
SN TP LIBSSILD

(B)  (pa¥tELIgw  SOOOIGY  FHIEHTIL_ DGV
TP L (HSSILD

(©) LYpESLILHSSISSL RICH
15D B0 GUWITESTS 1% LDTM]LD

D) BlupseaTiu®ssLuC L. uFew CumrewGeu
QGBS
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Q.154) Thorndike's 'Law of Effect' states that
behaviors followed by satisfying consequences
are likely to be:

(A) Weakened

(B) Forgotten

(C) Repeated

(D) Generalized

Q.155) The Gestalt theory of learning emphasizes
that the learner perceives things as a:

(A) Collection of individual parts

(B) Whole or a unified pattern

(C) Random set of stimuli

(D) Response to a single stimulus

Q.156) The need to succeed, to excel, and to
achieve a high standard is known as:

(A) Self-Actualization

(B) Power Motivation

(C) Affiliation Motivation

(D) Achievement Motivation

Q.157) According to Guilford's 'Structure of
Intellect’ model, intelligence can be classified
along which three dimensions?

(A) Single, Two-factor, Multi-factor

(B) Operations, Contents, Products

(C) Componential, Experiential, Contextual

(D) Linguistic, Logical-Mathematical, Spatial

Q.158) Who proposed the 'Group-Factor Theory'
of intelligence, suggesting that intelligence is
composed of primary mental abilities like verbal
comprehension and spatial visualization?

(A) Louis Thurstone

(B) Charles Spearman

(C) Raymond Cattell

(D) J.P. Guilford

Q.159) Continuous and  Comprehensive
Evaluation (CCE) was legally supported under:
(A) NEP 2020

(B) RTE Act 2009 Section 29(2)

(C) Kothari Commission 1966

(D) NCERT 2000
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0.154) @wBLBSTwIT aenaTeFears OFTL_Fhg
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(4) LevafeTLiLI(hSSLILIBLD
(B) Lop&&HLILI(BHILD

(C) et (pLd ClFuiwiLiLi®Ld
(D) QungienLoiLiHSSLILIHILD

0.155) Gsay_mewl’ sppew Csmlur® spmibT
Cur@peTsemar eIaIUTY] 2 GIFHDIT  GTTLIHS
el nISSIFwSI?

(4) safigsafl LGS salar COgr@LiL

(B) (Lp(LHE®LDIWITS DJGVGVS & (h/BI%H) a0 GwTbS
QLY OIS F 6D

(C) Gopp sreHS@saler ClsTELL)

(D) @D S1655 (5551601 LIG)6D

0.156) QeupmMOLp, PwEa NerTwis, LHDILL o Wi
B3 el Cauet(hLd e1arn CHenal @)aleumni
W LPSHSLILI(HF DG

(4) &GoT-2_ oSGV

(B) ABDHTT 2 IS5

(C) @)evewiLiL] 2 356

(D) F1HGST 2_[B5|% 60

0.157) F)60os GLimgL” 19 cor ') GusT 6T ) @) 68T
SL L eoioLiy)' (‘Structure of Intellect’) oM@ fLiLig,
BIGTEIHIene  6Th% PG LIfILDTeHTBI% 6V 68T

9Ly Litien L uiled UmSELILI(HDSHGVTLD?

(4) @oevw, Quest(h %mIesst, LIGV &TIess

(B) QawLITRS6T, 2 aTaTL_&&BI%6T, 6D aT6) ST
(C) FmIHaT, SILIQILD, &FLPED

(D) Qmfludwed, $is5%-Fenlls, Q)L 6HFTIBS

0.158) mewrenipley e1airLig) O ompILs Lyflged pmiLd
Q@L_@harins ST FLILERSSD GUIRTD (LpSSTEHLD
LDGST FMGTHATID Y6SS TR Fnf), 'GH(Lp HTTesH
GamLm®' (Group-Factor Theory) 6IGSID [HIcsTessINa%
Carlum e perOmfBseus wirg?

(4) erued ged GLmesr

(B) Fmgevet e NuwifGrLoesr

(C) Guoessr” G119 60

(D) Ggo.19. Eevos>GLimgL”

0.159) Gam_jd@Rwmes wPmid affleimest FLILTH
(CCE) 5" L f@wns Y HsSLILL L G 61568 SLH?

(4) CsQw svails Clamearenss 2020

(B) @eveuF ommiLd S L_mus He0ai FL 1L 2009,
Liflay 29(2)

(C) Gangsmil gy, ementwiLd 1966

(D) CaFw a6 rmuids wpmiLd LudnF

Soy TR 2000
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Q.160) Which of the following is the correct order of
the hierarchy in evaluation?

(A) Test » Measurement > Assessment > Evaluation
(B) Measurement » Test > Assessment > Evaluation
(C) Test » Assessment » Measurement - Evaluation
(D) Assessment > Evaluation > Measurement > Test

Q.161) A Mathematics Readiness Test to predict
performance in Algebra is an example of:

(A) Achievement Test

(B) Aptitude Test

(C) Diagnostic Test

(D) Prognostic Test

Q.162) Who is known as the father of the Great Man
Theory of leadership?

(A) Fiedler

(B) Thomas Carlyle

(C) Kurt Lewin

(D) Max Weber

Q.163) A student reflects on their learning strategy
and revises it for better performance. What type of
knowledge is this?

(A) Factual

(B) Procedural

(C) Metacognitive

(D) Conceptual

Q.164) The term Curriculum is derived from a Latin
word “currere” which means:

(A) To teach

(B) Torun/racecourse

(C)To learn

(D) To read

Q.165) Which principle of curriculum development
encourages addressing various learning styles and
preferences?

(A) Balance

(B) Individual Differences

(C) Utility

(D) Relevance

Q.166) Project-based, real-life learning in curriculum
best reflects which approach?

(A) Logical

(B) Spiral

(C) Unitary

(D) Topical
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(D) S@@LIL| 3T LD
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Q.167) Which institution leads the national Virtual
Labs project in higher education?

(A) IT Bombay

(B) llISc Bangalore

(C) IT Delhi

(D) NIT Trichy

Q.168. Which toolis India’s first Al-powered teacher
robot?

(A) Vedabot

(B) IRIS

(C) EAGLE

(D) AARNA

Q.169) TPACK was proposed by:
(A) Mishra & Koehler

(B) Skinner & Crowder

(C) Morrison & Hunt

(D) Gagné & Krathwohl

Q.170) Which platform is India's main MOOC
provider and also serves as an OER repository?
(A) SWAYAM Prabha

(B) Pathshala

(C) SWAYAM

(D) e-PG pathshala
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0.167) owi saluiled CsHw CouiBlsd
UIISEIFOT B L_Gens UPBLSSHILD BDIGTLD
615/?

(4) IIT (LpLoe® LI

(B) 11Sc Q)LisI%eor

(C) IIT G)_aD6¥)

(D) NIT (558

0.168. QpHwralest (LpFed Al-@QUSHLILIL L
o FRwg CorGum Hmmal) 61gy?

(4) Vedabot

(B) IRIS

(C) EAGLE

(D) AARNA

0.169) TPACK (LpGrQomLflbs e isse:
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GENERAL KNOWLEDGE
QU giMiey

Q.171) The first Indian to become a member of
the British Parliament was?

(A) Mahatma Gandhi

(B) Dadabhai Naoroji

(C) Subhas Chandra Bose

(D) B.R. Ambedkar

Q.172) Which was a military title during
Sangam Age?

(A) Poligar

(B) Perumakkal

(C) Enadi

(D) Manigramattar

Q.173) The Directive Principles of State Policy
(DPSPs) in the Indian Constitution were
inspired from which country's Constitution?
(A) United States of America

(B) United Kingdom

(C) Ireland

(D) Canada

Q.174) The highest peak in the Aravalli Range
is__

(A) Mount Abu
(B) Anamudi

(C) Doddabetta
(D) Guru Shikhar

Q.175) Which of the following is classified as a
primary pollutant?

(A) Ozone

(B) Smog

(C) Sulphur dioxide (SO,)

(D) PAN

Q.176) On which date is India’s National
Sports Day celebrated?

(A) June 23

(B) August 29

(C) April 6

(D) September 5
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(C) &umav Fp%H T CLmen

(D) 19.9,0. HoCLSSHT
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(4) 2C\wflssm

(B) @QEi&Hlewnps)

(C) QquieTpgl

(D) &esTL_IT

0.174) 9T GT6N
2 WTLOTGST FFILD 6157
(4) ajesL” L

(B) yev1(LpLy

(C) C_m_QurLm

(D) & F&d

L0e» eV 61 mL_Fled
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(B) LyewseLpL LD

(C) 3555 L Y 5mF® (SO2)

(D) PAN

0.176) @QpHuraiear GCsFw aflewarwm’
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(4) 839 61 23
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(D) Q&Li_1bLig 5
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Q.176) On which date is India’s National
Sports Day celebrated?

(A) June 23

(B) August 29

(C) April 6

(D) September 5

Q.177) Which among the following
organisation released Multidimensional
Poverty Index in India?

(A) NITI Aayog

(B) Ministry of Economic Affairs

(C) National Statistics Office

(D) Ministry of Internal Affairs

Q.178) Who is known as the "Moon Man of
India"?

(A) Dr. K. Sivan

(B) Dr. Mylswamy Annadurai

(C) Dr. Vikram Sarabhai

(D) Rakesh Sharma

Q.179) The difference between the compound
interest and simple interest on 310,000 at 10%
perannum for2yearsis__ .

(A)X100

(B) X250
(C)R200
(D)X150

Q.180) NABARD stands for:

(A) National Bank for Agriculture and Rural
Development

(B) National Bureau for Agricultural Research
and Development

(C) National Authority for Banking and Rural
Development

(D) National Board for
Resource Development

Agricultural and

0.176) @mpFHwraier CsFw alenarwimL” (®
BIGT 6T BTeMe0 ClsmesdrL_m_L1LIHSm?
(4) 879 Gt 23

(B) QHavL" 29

(C) erLiged 6

(D) QFLiL_1bLig 5

0.177) @QBHwmailed LGy LIfLDTERT 6 mIe»LD
@O e Gleueuil L ereupLd

QM LOLIL|F TGV 6T5)?

) p% 9 Gurs

(B) Qumperngrg aNeUE Ty O eHLDFFHLD

(C) GaRw Lyatefladleus 9jeaIevsELD

(D) 2_0THIeD O LOFFFLD
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(D) 1GLoey Fhtom

0.179) = 10,0006 () 10% au" 19 u96) 2
24, (NS @FS ST Fol_(h) @IL LY LOWMILD
eTaflw e 19 @SB WTFLD 6TRIRIGTE?

(4) =100

(B) €250

(C) 200

(D) 150

Q.180) NABARD stands for:

(A) National Bank for Agriculture and Rural
Development

(B) National Bureau for Agricultural Research
and Development

(C) National Authority for Banking and Rural
Development

(D) National Board for
Resource Development

Agricultural and
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